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The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kp>Kg>Kg
(2) Kg<Ky<Kg
3) Ky<Kg<Kg
4) Kp>K,>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K, : (K; + K,) for

the sphere is

(1) 5:7
(2 10:7
3) 7:10
4 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Moment of inertia

(2) Rotational kinetic energy
(3) Angular velocity

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Walking on the ground would become more
difficult.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Raindrops will fall faster.
(4) ‘g’ on the Earth will not change.

Giluemers  shdleumd  Bareul LiiLmasudd e
Caraflenr @Quiss <pnmed A, B wpmib C flanevsarfie
weonGu Ky, Kg wopn Kg <pebn. @flwer
uLssled sriiqueurm S- Hleveulld @m&sen Cungl
AC eretug Quilu iFemsyd SB arg AC-hs
CriT §53TH6 D 2 6Terg)

T
2 Kp<Ky<Kg
3) Ku<Kp<Kg

@m s Garetorerg 2 (hEBD QuUEsSS®
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Quss yppe (K) @Qrameruyb <CsCrisdd

QupH (HSSLD. erafled, SL&Camansdharer
Ky : Ky + Kp) ssay

1) 5:7

(2) 10:7

(3) 7:10

4) 2:5
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A toy car with charge q moves on a frictionless
horizontal plane surfacgunder the influence 0f_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 1m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 2m/s, 4m/s

(4) 1-56m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0

for the block to remain stationary on the wedge
is

A
2

C B

g
1 =
D a=2

(2) a=gcos0

3) a=_°2
cosec 0

(4) a=gtanB N

A A A
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -4i-j -8k
A A A
(2 -7i-8j -4k
A A A
(3) -8i-4j -7k

A A A
4) -71i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0525 cm
(2) 0-053 cm
(3) 0-521cm
(4) 0-529 cm

%
Errer ey B 6 gréssdarméd q Wlerayn L b
Qarenr @ Qumbewn sTrrarg o grieudn SHeLgar

_)

urtQer Blg psidpg. q B Qeaslanmed 1 elarmg sme
Sarelledd  yger HamsCeusd 0 OmbgE 6 mis HE
o LML @DE. bpsssasde et wsder Sae
wroptu@dng. @Qbs yasHer srEssHd  sryTETS)
Qariibg Coaib @rar® elearmgsd paidng. erafe 0
g 3 larmgsefle srflar sryefl SHasGousd wHMILD
gyrefl eerey
(1) 1m/s, 3m/s
(2) 1m/s, 3:5m/s
(3) 2m/s, 4m/s
(4) 1-5m/s, 3m/s
m-flepGarear. Qam@LiL qearn O-smiie|sGsTenTd
Qarar. ABC  erempm  euipeupliLineT  &milgerssler
B eeussliul (Herergl UL S smiLriul (Hererg|.
FTUGETONETE  eulILDrs ‘@’ arey  (PHESHD
QarssiiuGdpg. Csregliy  stusearsdenig
Blevaowrs @@uusHstar  a  womb 0 HS
@eL Cuwrer QgL

g
1 =
D a=2

(2) a=gecosH
3 a= 2
cosec 0

(4) a=gtan®
yerefl (2, 0, — 3) &, yerafl (2, — 2, — 2) guQummSs,

- A A A

fleng F =41 +5j — 6k parar 2 bssmss SHeug)
1 —4i -5 -8k

A A AN
(2) -71-8j -4k

A A A
3 -8i-4j -7k

A A AN
(4 -71-4j -8k
@@ wreweui Wardlhmerey 0:001 cm Csrer & me
Sjerellevws Garam®, @ Sl @DL (&erTiy e
AL sems ersSprr. HmE ereiluder epe
Sjere| LS 5 mm wHHID el ere) Wifleler
sPlurerg CuonGsrer b L sHnE 25 WflejsEnss
Gued RISl en anTTh ) 6Terg). UG <emedl
— 0004 cm s flbery CQareri g erafld, @@ er
Fhlwmer 68l Lb.

(1) 0-525 cm
(2) 0053 cm
(3) 0521 cm
(4) 0529 cm
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10.

11.

12.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

v

T

B
A
0] —T
2
1 —
(D 3
1
2 _
(2) 3
2
(3) =
2
4 —
4) 7

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 8cm

(2) 12-5cm
(3) 13-2cm
(4) 16 cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1) 8360x10*K
(2) 5016x10*°K
(3) 2508x10*K

4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 20%

(2) 6:25%
(3) 26:8%
4) 1256%

10.

11.

12.

@m @bon ey euryeler uwmn (V) wrmurh
e Qeutinfleweewt  (T)  Qurmsssmer
auepCar(® uULSHed s tiul HeTerg. UL S5
Blevaw A welmpg Hlewewr B @ wmmbd Cumg
aumyellamme QauiwtinlL Coumes@hd, AsaTme
o U seurliul L Qeutiugdn@onear sa6]

\%

T

o

éT

(1)

(2)

3

N N O b W Wb

(4)

@ Hnhs s @Gwruler gL i$lTbeue
DG @M AP s GPTllen apanTag)
ENangs@s swwm@h. (g yiser @wmuier Barb
20 cm, erafled, Hops < fser Gprulear Berb

(1) 8cm

(2) 12-5cm
3) 132cm
(4) 16 cm

s Geutuflaneuied < sSlmer  epasImpTaTg)
Helulellmpg ehuL(BE Qgdas Csameuwnmar rms
Cousgansg Gumib

(2 &8mer ppesaner Hlenm (m) = 2:76 x 1026 kg
Gurer evGuoar wrfled kp = 1:38 x 1023 JK!
Qasr@&ssuul_(HeTerg))

(1) 8360x10*K

(2) 5016x10*K

(3) 2:508x10*K

4) 1254x10*K

Bflar  2mphlewn  ydaelggn  Qardblael
yeraflg@gnd Qe Cu  Geudu@n o Qe dw
Qeutiu Quisdlrsdlen SHmeir

(1) 20%

(2) 6:25%
3) 268%
4) 125%
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13. A carbon resistor of (47 £ 4-7) kQ is to be marked [13. @@ sriuar WeargamL (47 £ 4:7) kQ e sigen
with rings of different colours for its mé’]u@"' 5WL@@J§’@5W GUENITERT - GUEDETLIS
. . ) . GSOMSEH  SeLwrard @ Uul (Hererg.  @ser
identification. The colour code sequence will be auamans @D G aflassdyo
(1)  Yellow — Violet — Orange — Silver (1) EpseT - 2a15T - YTEHS - Ceudrafl
9 o } ) . .

(2) Yellow — Green — Violet — Gold 2) e L.I&GU.)E M‘g).” @urr@@ﬂg)m
(3) oagm - WEHFET - YTEHE - CeudTar]

(3) Violet — Yellow — Orange — Silver (4)  uFws - YTEHE - 2T - GQurerafpd

(4) Green — Orange — Violet — Gold 14. s ez R OQararl ‘n’-eramenilsanguleome
HersenLsar G @eaeniile R ojseargen

14. A set of ‘n’ equal resistors, of value ‘R’ each, are Qsram_gn ‘B wate; emf Qarawlgorar e
connected in series to a battery of emf ‘E’ and ssgLear  @aarssliu@Sng.  @Fd  umyb
internal resistance ‘R’. The current drawn is I. WlerGarm_LLb I D GLD. @uQumpgl
Now, the ‘n’ resistors are connected in parallel to ‘n’-_GF o @Fﬂé?G?{)&Uﬁ]@WGUT .L&@,E:GDI—GEGT. . Q@gﬁ
the same battery. Then the current drawn from Lﬁ]m&%w%—%’] Lgr HES @ @igmli”‘cﬂm a‘i@ GU)GGOTGS;SﬂI_I.I_IL‘I_’I'I'(fD
battery becomes 10 I. The value of ‘n’ is ;Tﬁu_luﬂ COTLoGUNTLL-LD ASIDGI ereoried M-6oT
(1 1 (1 11
(2) 20 (2) 20

(3 10
3) 10
® 4 9
4) 9 . . . . .
15. qm vasws Csr@lumag wrnub eraralsamns

15. A battery consists of a variable number ‘n’ of n-@a;rrszfm._ ) Lﬂm&wr_’ﬁmmm&, ﬁ”“‘r@@m@ '
. . . . . o (peuCeuremdler osllatgaLub T CsTarLg).
identical cells (having internal resistance ‘r ) LS e

) . i el Qarim @aeniiGd @aamss il (HeTaTer.
each) which are connected in series. The He . . O . . o
] oo angses Cam@lider (panearser eehlanammddsiiuLl (b
terminals of tl‘le battery are short—cn*cmted and BenGarmt Lorang 1 sienéstiu@Ens. Ganaimd
the current I is meas?red. Whlch of the graphs aorCsm gd ebs @em 1 wHmD  n-HE
shows the correct relationship between I and n ? Qe Cuuwrar sflurar Qgr_ifwu sramisdns
I I
(1) 1\ : (@) T i
o —>n 0 —n
I I
(2) 1\ i (2) T i
(0] —n (0] —n
I I
@ ! @ !
O —n O —n
I I
(4) 1\ i (4) T
O —n O —n
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16.

17.

18.

19.

An em wave is propagating in a medium with a
velocity V = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) + z direction

(2) -y direction

(3) - zdirection

(4) —xdirection

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 45°
(2) 30°
(3) 60°
(4) zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards

the mirror, the displacement of the image will be
(1) 36 cm away from the mirror

(2) 30 cm towards the mirror

(3) 30 cm away from the mirror

(4) 36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 138:88 H
(2) 1-389H
(3) 0138H
(4) 13-89H

16.

17.

18.

19.

@ WBaamsg oo @ oo ssdar  eulGw

;)7 =V,i\ SansCeussded L flngl. Dbss saTESld
Herarhs — Smewler  Waryond +y &8
SdOa|nFDGI. erafled, Dmaemib STHSLI Levdsdl e
Hens

1)+ z Hewagufled

(2) -y dewsufied

3) -z dasie

4) —xdezufed

@m wrul sl Qunmefler geflellovsed eremr J2
wHoid wuul L ssder Camanrd 30°. GeuTaflls LFe
Qarem® pUUlLssHer @ alaflasd Ll
9 lg WIS
s CsTaT geflsshanm et (PLILIL L &S 6
wHEADTH LSS e
G Smbudlngl. (galliysfle GrdluadissGer)
Siger (pLLLLsgdear Warear LG Csmenrd

(1) 45°

2 ' L|DLO&

wroptiLGdng.  eefluder

auflCw  earmell  oims

(2) 30°
(3) 60°
4) &

15 cm galwsgnyd Qamar @ &g uiadmbg
40 cm Ogreveelled QuUmRET eUESLILIL (DETETS.
qeow Cprsdu Haguier Gummerrerg 20 cm
Qsmeveeiin s BSTSSILLLTED, QLGS e
@LL6uUwTey

(1) <guledimbgl 36 cm eflewdlF6lgeaaib

(2) < Grradl 30 cm Crrsdl @) mse @b

(3)  quled g 30 cm ellewdFQFdeid

(4) <= Crprsd 36 cm Crrsdl @) ms @D

@m  Wergramguid  Cosflgsuul Herer  &MbHs
Blevaowrdmed 25 md, Wergremguier WlerGemm b

60 mA erafled, Wergmesradler iy

(1) 13888 H
(2) 1-389H
(3) 0138H
(4) 13-89H
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20.

21.

22,

23.

An electron of mass m with an initial velocity
IT):VO/i\ (Vo > 0) enters an electric field
I_*]) =— EOIi\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

A (1+ e tJ
mVO

(2) Apt
(3) _ro

1+ eEo t

mVO

4) Ay
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1 10
(2) 30
(3) 20
(4) 15

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1)
(2)
(3) 1

4) i—2

When the light of frequency 2v, (where v, is

=1
=1

[ N

threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v,;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v, to vy is

1) 1:4
(2) 4:1
3 1:2
4) 2:1

20.

21.

22,

23.

m-fHlenparar e rGasLyer,

%

V = Vo/i\ (Vo > 0) ereimm glouss SlansCousssle,
- A

t=0flewawle, E =-Eji (Ej=wrdledl > 0)

e s eieT meapSng. geusssdle Ay eremug)
e lGrréell SiemeBerd erafled, t CrrsHer weumysed

S Berid
eEO
1 1
(1) 7‘0( + mV, tj
@) ot
(3) 7‘—0
1+ eEo t
mVO
@ 2

@@ sHflwussd QUIIHEEES, AMT YPUET ST
10 AllL_riseT. gleusasHd @) (HhS Namishs[h&sart 6

crarenflsens 600, erefler, 450 amISHHESET
flangain @b srab (Bl ggld)

(1 10

(2) 30

(3) 20

4) 15

manigrser sameder @ GuTT &HblQIETeT 6

alasigrafiler  @Qu&s  UdHOGESD — CQrss
S DDEISEDTET $5H6

(1 1:-1

2 2:-1

3 1:1

4) 1:-2

2vy HrQeuan Qamer (vy eramigl Lwem QSm_s&s
<fiQeuanr) eeafl o 2 Cors ssligear g U@L
Curmg, =2WpLtiumb aCostgrarseaier  GLmL
HeasCeusd vy u@sdfer ofiCeuem 5vy 2emey
=G soluer BB
2 18lpLIL@L erCeslgrargafler Qu@mL HavsGousid
Vo, eT@fleh vy eN(BBE Vo Mamer elldlsLd

1 1
(2)
3)
(4)

SHlafssiurLme,

14
01
12
01

[CRSONN
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24.

25.

26.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected and refracted rays are
perpendicular to each other. Which of the
following options is correct for this situation ?

(1) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(2) i=sin" (1]

u

(3) Reflected light is polarised with its electric
vector parallel to the plane of incidence

4) i=tan [1j

u

An astronomical refracting telescope will have

large angular magnification and high angular

resolution, when it has an objective lens of

(1) large focal length and small diameter

(2) large focal length and large diameter

(3) small focal length and large diameter

(4) small focal length and small diameter

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 19mm
(2) 21mm
3) 1-8mm
4) 1-'7mm

24.

25.

26.

‘W gellefesd aarCsream gwger LrikGer g,
sl mhg @@ seredllaeraint geflu®Gdngl. @@
GO u@Gsrand -0 Ardluediiiy sHmid
Meo@admb gamsarean Csk@ssTs @ @mULg
saTLMwiLBE DS @ b5 GBS,
erLpeuameumdled eTbss gmdm Filuimerg)

(1)  QGrduediiy el S| Ge Ll 6trenl wieh

QeusLmmLermar  LBHFSSHDEG  CFmEGs5g
SHevgufed gemeilanereymib

(2) i=sin (EJ
1)

(3)  WGrduedliy el SIS e Ll 6trenlwieh
QeusL(pLarmar LHSTSIH D@ Genanrdanaudled

SeredleneramiLd
(4) i=tan! (lJ
u

em arallud geflctosd Csmame Crréswurarg,
i8ls
Faffeeaurie|b  CSTarTiy(Hés,

Carewr o (BLCU@®BESWL, 2wi  GCsmewr

Sigen  QuTmeT(HE

clléenewimerg

(1) <fs @elwusgmbd woHmb Aflu AL
Qamesrigmés Couam(Hbd

(2) <odls @elwusgmpb wLOMID s
Qs ey (H&Es GoueiT(Hd

3) @opbs GAwussTb wHNL SHs ML LD
Qamesrigmés Couam(Hd

4)  @opps @IUSHITD WHNID G@pHs 6L b

Qs ey (HEs GouenT(Hd

L b

W Qerey  uMCanganerulled

20 Qe
Gerays@péE @QeLturt d operg 2 mm.
LWETLESSILEDL Geflider @@aBend A = 5896 A
wLHnbL  HersEh
Qsrevavey D er gy 100 cm. eueverwimigefler

Germeyd@Hd  @enL il L
Camanr s 0:20° 96z L whmd D whHulne
0-21° oerey  oFsfss,
Yerays@héE Qe Ll L Agraaaie GCsaeuuwirar
LOTHOHLD

Camanr  Ss5MS

(1) 19mm
(2) 2:1mm
(3) 1-8mm
(4) 1'7mm
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217.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of Ig, I and B are given by
20V

27.

ECQaT(Hdsriul_(Herer

S, 2 et (R

Werrarpssnd (V;) 20 V, Vgg = 0 womib Veg = 0.

erafled, Ig, I wbmitd B e gLy

20V

(1) Ig=25uA, Ig=5mA, =200 (1) Ig=25uA, Ig=5mA, =200
(2) Ig=20pA, Ig=5mA, =250 (2) Ig=20pA, Ig=5mA, f=250
(3) Ig=40uA, Ic=10mA, B =250 (3) Ip=40pA, Ic=10mA, =250
(4) Ig=40pA, Io=5mA, =125 (4) Ig=40pA, Ig=5mA, B=125
28. In a p-n junction diode, change in temperature 28. @n pn  spfleoLGurgd,  Gatulu@ssy
due to heating ueusred ehu@b Geuliiflane wmHmLD
(1) affects only forward resistance @) (BOGﬁTC'gGDTI:FéEBC;]U_I BlenL_geni_enu DL (1D
urdl&@Lo
(2) does not affect resistance of p-n junction (2) p-nspHier Berseew LTHEsS)
(3) affects only reverse resistance (3) HEmniu Berse_ew b Gid LTHEED
(4) affects the overall V — I characteristics of (4) pn epdulern eppeugiorear V- I uamlueme
p-n junction LUndl& @1
29. In the combination of the following gates the|29. &Cp  Qsr@sstul @erer  sidseumiad  sHm)
output Y can be written in terms of inputs A and Sowilbd, o deafGadr A wpmid B perear #flwmer
Bas Qauelui® Y
Ae
Ae L
. 5 Be
Be ( o Y [ > Y
() A.B+A.B (1) A.B+A.B
(2) A.B+A.B (2) A.B+A.B
3 A.B 3 A.B
4 A+B 4 A+B
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30.

31.

32.

33.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 em and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 339 m/s

(2) 350 m/s
(3) 330 m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) linearly proportional to the distance

between the plates.

(2) proportional to the square root of the
distance between the plates.

(3) independent of the distance between the
plates.

(4) inversely proportional to the distance
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 5 times greater
(2) 10 times greater
(3) smaller

(4) equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) m=s

(2) 2s
8) 2ms
(4) 1s

30.

31.

32.

33.

$G saTaTTs GPNID GsHosa THLGES GG
@assgsmes LWaTLHSSLILOEDS. @@ @unis

samerLsCsrarh  Gpruiayer o der  sTHMIS
SbLSS et Bersans #MQgwwembd. 27°C
@p@atiufloade,  <0ss0ss Qe

psHaoseaigar 20 cm wHmbd 73 cm  BersHed
2 paumssLILEDg. Gagssamouuier i irbleuamr
320 Hz eraflev, 27°C @ qadller SansCousbrarg ?
(1) 339m/s

(2) 350 m/s
(3) 330m/s
(4) 300 m/s

Q Wergyr Lid womd A urly QsrerL @ avenr
550 WarGasfluler C GANssHLLHeTer @ e
5505@EH&EE @ Cu srenrliL(Hb Hlape Lslemenlwicd
cleswnerg
(1) ssdsErsE @il Asraaalns
Crflwer gl QuImSSIpenLWFG).
(2)  saBsERsE @aLlul L Asmaaind
@iy aped Hssl QUSSP LS.
(3)  saBsERHE QL ul L (sTamaamal
FMTTSS].
(4)  ssBsERsE @aLlul L dsmaaind
rdlfelldlg QuUTBSSLPEL I
Eymen HmILD Qeri@sss CuaoCrmadw
SHavgufleonar g Wear e E &, g erCeosyrer
ey eueblaouldmbg  demi@sstes h
Qzrenevey &G cllpdma. @uQumps
Wergeosder oerey  SULgGu  eeussiiul{H
SHevgol b Herutin®dpg. @@ yGrmiimes
argl e sHayer Gs o wpbd h yerellhE
ECu allpomm QeiwtinGEng. crefled
s yrer eflpd Gy <jere] LGrmLmer aflpd
Crr eme L6 el L_med
(1) 5 wrmeE Quilwug
(2) 10 wriE Quilug)
3) Aflwug

(4) swwreg

Coeeuwimar o wigperer  sllgl SSler  smenyulilen
2 F8ul6l (mbs) (1 DETFQ) TEUT G
Qariselliur (hererg WwHMID AF @ Slos
SiolludMCurd  werayb erayd  Gudurs
S momn 2 emergl.  gyrail  Hlaveulledmbg)
5m Qsrevaeier sarsd UpHer p@ssnd 20 m/s?
crafled, emevay Crirbd

1) ms
(2) 2s
3) 2ms
4) 1s
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34.

35.

36.

37.

A metallic rod of mass per unit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is

(1) 598A
(2) 1476 A
(3) T14A
(4) 11-32A

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 25Q

(2) 250Q
(3) 40Q
(4) 500 Q

A thin diamagnetic rod is placed vertically

between the poles of an electromagnet. When the

current in the electromagnet is switched on, then

the diamagnetic rod is pushed up, out of the

horizontal magnetic field. Hence the rod gains

gravitational potential energy. The work

required to do this comes from

(1) the magnetic field

(2) the lattice structure of the material of the
rod

(38) the current source

(4) the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 uF and a

resistor 50 Q are connected in series across a

source of emf, V = 10 sin 314 t. The power loss in

the circuit is

(1) 043 W
(2) 274 W
3 079W
4 113W

34.

35.

36.

37.

@i @E Basdne 0-5 kg m™ HapQsteam o
2 Coorad sl qerm, danl bl L ggiear 30° smiieys
CaramsassCamamT  eupepliuneT  Frigerssler
Bg HLgsriur Gararg. sflurarg EGpel(pssTned
@mss, OCsmgsg SHosulild 025 T asrpsl
HaoggreamL e Geuou®ssiiuc @, ger eufGuw
WerGarm b umybuly Qetwdiu®Spg. eafld,
sPleows  paITLD  Hlevewrs  @meusd(hEs  Fer
auflGw uruyd WlerCearm b

(1) 598A

(2) 1476 A

3) 714 A

(4) 11-32A

@0  QuiiE  smer  smoeuCerm LS L e

WerCerm L. 2 anrie HILULUL 5 divmA wHmb
Werempss oemie) mLub 20 div/V  eafléd
srdeuCarm 1L fer LOeTHemL

(1) 25Q

(2) 250Q

(3) 40Q

(4) 500 Q

(1 Wersmbgs — gi(Hed (pamernsensdlan_Gu
Qemi@ssns @uaedlw erli STHSESHLH

eussLILl (hetargl. Wersmhg  WlenGerml L omeng
S@ISHESILLLGID, @bl L sTHsL bl
adlit  ampsssfl  CoaCprad  sdarerluBSDg.
carGeu  sflurerg Ly Warblane LHmenaL
Qumiflmgl. @sH@E Cosmeuwnar Couameenw Qe
SGEl
(1)  srpsLiLeb
(2)  sPQenwnuLHeTer Cummart e

Sl &ECHTMme SL_L LI

(3) e epevid

(4) srhsl o brHpsslearmed e @b
WlETL{euLD

em WBeargreamg 20 mH, om wWaCssdl 100 pF

wHpbd em WeagaL 50 Q  gdwuear Qs
@aenibe, emf, V = 10 sin 314 t 55 Qe Cw
@eanssliLl (Hdaarg @bs sHMld gD ,Hmed
QILEE

(1) 043 W
(2) 2:714W
3 079W
4 113W
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38.

39.

40.

41.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %XO, the power radiated by it

becomes nP. The value of n is

1 -
(2)

3 -

81

4) 256

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

1) 6F
(2) 4F
3 9F
4 F

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) 1
(2) P
3
4

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 2087d

(2) 42:2J
(3) 104:3J
(4) 8454J

38.

39.

40.

41.

@@ smbEummeaiar < bpd sdieids P wpmid
2g Qu@n Yyhooe Ay dAmebasdd eiadng.
smwEurmefler  Qeutiuflepeerw, g G
DO %7“0 smaparsder CQeualuil ehpeumm

wroflerme, <yHoe sHireiFas nP  eerprdng.

erafled, n-eir oLy

(1)

N o |
[
[

(2)

3

o o

81

256

a@Cr Qummeieme Qeuwtiul L @rear® sblser
aGr jemey LB QETETL_STE6 D 2 GTaTaTr. (PS5
s19ul e Gn&@EEeHrurLiy A HMILD
@rarLreug sblAer Gns@EGeulGLruriy 3A
<U@&WD. s sl Barsas Al ere| ofshss
ggar g les F Qeueou®@ssiub®dng erafe
@ranLmeug sblewwyd <uCs erey Bligss
Coameuwinar ellansulien ieme]

4)

(1) 6F
(2) 4F
3 9F
4 F

T-gyb Garar g Sdw Csmerbrerg euiay
Blevaulalmbg @ umln Sreusdeayer oflipmm)
Qeuwin@®@dpg.  @ser  eflenereumed LMWL
clenglarmed Geutiub o (Heurdlpg. GCamerwmeng
ypoaws SosCassms seLwbCurg el
o (heu&s 6ig iflgl QummssD

L 1

@ 1°
3 1
@ r*
100°C &b, Quicbuimar 2j(pdsHed (1:013 x 10° Nm™2)
oerer 01 g wrdfl feoy yelwrs wrHy 54
sCamflgeg 100°C Geutin yhoeéd CosameutiuBEpg.
@dler 2 pusHurer efuder uU@wer 1671 cc
erafled wmdfluder =is < Hmed wrmLmh

(1) 2087dJ

(2) 42-24J
(3) 104:3J
(4) 8454J
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42,

43.

44.

45.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
(1) D
@ D
(3) %D
@ 2D

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wpo>Wg>Wgq
(2) Wp>W,>Wgq
3) We>Wg>W,
(4) Wpo>We>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 025
(2) 08
3) 05
(4) 04

Which one of the following statements is
incorrect ?

(1) Limiting value of static friction is directly
proportional to normal reaction.

(2) Frictional force opposes the relative motion.

(3) Rolling friction is smaller than sliding
friction.

(4) Coefficient of sliding
dimensions of length.

friction  has

42.

43.

44.

45.

gleusssdle euiajblaneulgierer ¢ GuUTmHeTTETS)
h-> LrsHO@mbg 2 rrieupn uresuled (UL
sl qweurm) SPpmd om Cem@gssrar el L
shen WP4sSpg. eul LF apiler el b AB = D
erafled, 2 wigib h Mg Fwwreng

h B
o
J’ A
1) D
@) %D
3) %D
@ 2D

epern GQummetser A @ (@ S Camard), B @ (g
Cueradlw eu L el () wHobd C : (e@m el
cueneTwid) eeuCeurarmid @Gy =erey Hlewpw M
oHmd b R Qerareveuwn@g s
siFansiiupd @Gy <jere CaramdasCousd -
spodlamer.  Sepan @ulejmasE CataEr®
aumeugnE Csmeuwnear Geuama jere] (W)
wduemu LrsSHstieugharear Qgmi

(1) Wo>Wg>Wg,

(2) Wp>W,>Wgq

3) We>Wg>W,

(4) Wr>We>Wg

m-BleopCarar..  Bs@mb  OsmEly  eqerm  4m
BleopQsrenr_  Hlevoowrs o6rer Qgr@rder g
Corgdlmgl. Corsais@l Wer Hlan@ammeurer
Qareuy eueblawsE eumding. Hlamn@Eamneurer

Qsmalber  gleuss  HamsCousd v erafled,
HlevaS A& @eansid () e i

(1) 025

(2) 08

3) 05

(4) 04

etreu(Hd Fabbled 6Tg Seumreg)
(1) fHlevay o grellen euyibL] i CrirEss
erdlteflenand @ Coirellflgl QuUmmSSpaLWLF.
(2) ogmie) efewswneng &y QUESSMS
T THEEFnq LI
(3) 2 (mEBD 2 0Tile] UPSESLD
o TTiEeUESTL gD Hlwig.
(4)  aWwsE 2rTles Gash Ber S @EsmeTs:
QamesmL_g|.
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46.

47.

48.

49.

50.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column IT
a. Co3Jr 1. \/§ B.M.
A ii. /35 BM.
c. T iii. /3 B.M.
d. Ni** iv. /24 B.M.
v. 15 B.M.
a b c d
1) i i iii iv
2) iv i i i
3) iv v i i
4) i v i i

Iron carbonyl, Fe(CO)j; is

(1) mononuclear
(2) trinuclear
(3) tetranuclear
(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)y] is

(1) Coordination isomerism
(2) Ionization isomerism
(3) Geometrical isomerism
(4) Linkage isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) Cry02”
(2)  MnO,
3) Cro2”
(4) MnO%~

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and diamagnetic

(2) square planar geometry and paramagnetic
(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic

46.

47.

48.

49.

50.

Qsmad I @ Qar@ssuul L 2 Cors jwallsamar
Qsmad II & GCsr@ssiulr  cuweaisafer

FpHsl  sThsHBLLSSD@ILer  (uTBsS  HmHID
sigan sflurear @GMuir e Csib0ls(Hdseab :

Csmadl 1 AELGERI
a. Co’* i. 8 BM.
b. Cr3* ii. /35 B.M.
c. Fe** iii. /3 B.M.
d.  Ni** iv. 24 BM.

v. 15 BM.

a b c d
1) 1 il i1l iv
(2) 1iv i il iii
3) iv ' ii i
(4) 1iii v i il
@y srruamerd, Fe(CO)5 <,arg)
(1) qerens s
2) ws s
(3)  mrenE &
4 @m sm
[CoCly(en),]  imame) s (b LIHHlLSSen
UMSWITETE)

1) @eawre] wIHHWLD

(2)  <wefl wrHHWLD

(3)  auge eus wEHOWLD

(4) @eanriiy wTHHWID

Epsan. Swalsefld eg gearm d-d wrHPSmSLD
WHOID LTTTSTHESSSETEOWLLD 2 L LSTEHD ?

1) Cr,0F

(2) MO,
2—

3 €02

(4)  MnO%

[Ni(CO) 4] iemantaellen LmGleuefl jenoliLy whmibd

GMhS SGTENOUITE)

(1) mrerepdl ypGeuafl el WHmID Lwim
SMHGSS 60T LD

(2)  sgirser ypGeued ey wHmId Cuiyr
SMHGSS 60 LD

(3)  egirser ypGeuad eI LHOHID LwiT
SMHSES 6D

(4)  mrearpdl ypGeuafl enwiiLy whmid Guiym
SMhGSS 6016 LD
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51.

52.

53.

54.

55.

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 30
(2) 28
3) 14
(4) 44

The difference between amylose and amylopectin
is

(1) Amylose have 1—4 o-linkage and
1 — 6 B-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(4) Amylose is made up of glucose and

galactose

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They are formed from bi- and tri-functional
monomers.

(2) Examples are bakelite and melamine.

(3) They contain covalent bonds
various linear polymer chains.

(4) They contain strong covalent bonds in their
polymer chains.

between

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In electrophilic substitution
amino group is meta directive.

(2) In absence of substituents nitro group
always goes to m-position.

(3) In spite of substituents nitro group always
goes to only m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

reactions

Which of the following oxides is most acidic in

nature ?

(1) BeO
(2) BaO
(3) MgO
(4) CaO

51.

52.

53.

54.

55.

2:3 g urmdls bl wHmb 45 g yssTdls
Sl  somel LT HySO, oLer  efenar
yidlpg. Gesefleu@md eumysseflar soames KOH
cveaseiar 26 QeqssiiLGdng. STP ufed
Bgperer ellenen@ummafien erenL (g) wirang

(1 30

(2) 28
3 14
4) 44
SBlGemev O I BCTELSGar  @eaLCw

2 drer CeumyLimL_meug;

(1) 1-54aQeeriy womb 1 —6
B-@enantiianL BlGeme ©&meiTiq(hd @0

(2) 1-54a-Qeeriy womb 1 —6
B-@aenriianL A Ceomrblusig e
Qs memTiq (H&@LD

3) 1->4aQeeriy womb 1 —6
o-@evanriientl HCemrelugig 6
Qs memTiq (H&@LD

(4)  ©EpCsmev LHNID sra&EGLTaflarme
SBIGemeL &SI g (HEELD

GINETGT:S QsmLiry SDegl aleel 119 6resmed

Leulgsmer CuThsgl, SpsarL mpmseild erg

arn sflwrearg Gevene ?

(1) eweu @rlenl OMID (PLDEOLD -
emangs6gr@Ed Ui uliarnmd o (HaumELb.

(2) CuseeL, Guaewer @eubHdn s
T(HSGISSTL_(HN&ETT(GLD.

(3)  QeucuGeumy CrGaT(H LUl
shsdls@ERsdanCu sslameniiLsamar
QsmerLg).

(4) uveuy sFriglefle e euelapLDuwlTET
& ADETLILISMET 2 0L LIF).

cuallenoLsl(s, SjLfle s61L_& & 6d <jatadl e

bl Cropdb m-epl Cym afellenarnyd smHEng,

T GTEfled

(1) eresLymesr udlaS(h  elenarsafe
Carm Cgm@d m-eulbL &@Lb.

(2) uddhaser QoersCurg aplGrm CQsmEd
eriGumgib m-@L sans CrrsHGu CGadaib.

(3) uddhaser QmbsCurgd eplCrm CQgmEd
eriGumgib m-@L sens CrrasdCuw Cadaib.

4) <fle  (euallenwiflE) e ssHled etedle,
Satelaflub Swellwrs @) mé@Lb.

EpsaiL. yEmshsaiey g QUDEWLTE UHS

SlSlvSFemenow|enLLIg ?

SHeUIT

(1) BeO
(2) BaO
(3) MgO
(4) CaO
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56.

57.

58.

In the reaction

OH O Nat

@ + CHCly + NaOH ———> @ CHO

the electrophile involved is

@
(1) formyl cation (CHO )

S]
(2) dichloromethyl anion (CHCl,)

®
(3) dichloromethyl cation (CHCl,)

(4) dichlorocarbene (:CCl,)

Carboxylic acids have higher boiling points than
aldehydes, ketones alcohols of
comparable molecular mass. It is due to their

(D
(2)

and even

formation of carboxylate ion

more extensive association of carboxylic
acid via van der Waals force of attraction

(3)
4)

formation of intramolecular H-bonding

formation of intermolecular H-bonding

Compound A, CgH,,0O, is found to react with

NaOI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

Q_ CH2 - CH2 —OH and 12
OH

(1)

3) HyC CH,-OH and I,
Hj

c
CH, G OH and I,

(4)

56.

57.

58.

@ euaflenemrudled
OH O™Na*

@ + CHCly + NaOH ——> @ CHO

Qs e seul sryanflums mHLGeug

@
(1) urfenwed Cpir <uied (CHO )

S
(CHCL,)

(2)  er@CermGyr CwsHed erdli owafl

@
3) e @CernCrm QwsdHe Crijweafl (CHCly)

4)  eLgCamCrr sriSer (:CCly)

UL LI &8niq ] P& En M) BlenmujenL_w
91 QD (HSET, SUCLmetrgeir WHDID
Y DSADTEOSENET STL1q @uILd STTUTSELTEIS
Sfeomsdr  ofls  CQardbleon  Leraflaaer

2 LWy o6 erafled @ eummdled
(D

sriurseslGel ojwefl 2 (Heumeugmed

(2)  eumawLit  eumedev seurFSl  ellens  epeLTS
srrunsevtals  gflwgdear  ofls s
@) TS S5 S Ted

(3)
(4)
Garod A, CgH,(O, NaOl wLer afenaryfleugns

gpesaadlan_Cu H Genenrii o (heunse

epe&sadeier H Genanriin) o (heunsed

<DHComd (Y-wreng, NaOH o e ecllenaryfpbg
o HusHundlpg) wHOID @@ WDERFET NP6
GO 885 Qb U6 sBSDg-

A vppid Y wrerg (panpCu

1) CH,; — CHy — OH wpmibd Iy

@ ¢ ) CH-CHyuppo 1,
|
OH

3)

HyC )~ CH, — OH wppio I

CH,

(4) CH, G OH wpmib I,
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59.

60.

61.

62.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) CyH;z0H, C,HLCl, CoH;ONa

(2) CyH;Cl, CoHg, CoH5;OH

(3) CyHz0H, CyHg, CoHLCI

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both

due to natural and human activity ?

(1) NOgy
(2) N0
(3) NyO5
(4) NO
Hydrocarbon (A) reacts with bromine by

substitution to form an alkyl bromide which by
Wurtz

hydrocarbon containing less than four carbon

reaction is converted to gaseous

atoms. (A) is
(1) CHy=CH,
(2) CHg-CHjg

(3 CH=CH

(4) CHy
The compound C;Hg undergoes the following

reactions :

3CL/A Br,/Fe 7n/HCI
20 A 2 B C

C7Hg
The product ‘C’ is

(1) o-bromotoluene
(2) 3-bromo-2,4,6-trichlorotoluene
(3) m-bromotoluene

(4) p-bromotoluene

59.

60.

61.

62.

Carow A wrergl Na o L ar Gopg B & smdpg
wpmid PCly wrer C & smdmg. B wopmbd C
patnrs alamarfibg eLeasdd mEsmy SmHSDI.
A, B opmib C wler euflangwinang

(2) CyHLCI, CoHg, CoH;OH

(3) CyH5OH, CoHg, CoHCl

@Qupes womb weaflls GCeud G remgearmaLd

cuafloarr_egHed 26T  L@GSsliuBL bl e
ASDFHH@HET oTg @ern Curgeurear WwraHU[HSS
Hlewwing ?

(1) NO,
2 N,0
(3) N,05
4) NO

aant Crramruer (A) yCrmdey e LifleS g emmed
e fipg <pdensd LHErmeweL o (Heumd@
SmauCu 2mev elenaruier epad BIem@GS@SL0
G®DEUTET ST  Samssamer CaTem  eumuy

aapl Grrsmiuernms wrHob oL dng. (A) curearg
(1) CH,;=CH,y
(2) CHs;-CH;j
(3) CH=CH
(4) CH4
Caiob CrHg Spsart elenarenws Lfldmg) :

3 012 /A Br2 / Fe Zn / HC1

A B

7Hg
danar@ummer ‘C’ wrang
(1) o-yCrrComGlLmeyeller
(2)  3-yGyrGm-2,4,6- LavrECarCrmGlLmrgyaier
(3)  m-yCrrCrGlL_meyeslen
(4)  p-yGyrGrGLreyeler
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63. Which of the following carbocations is expected to

be most stable ?

NO,
Y H
NO,
v/ &
NO,
Y H
NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NRy<-OR<-F
(2)
(3)
(4)

T

(D
(2)
(3)
(4)

=

64.

-NHy>-OR>-F
-NHy <-OR<-F
—-NRy>-OR>-F

65. Which of the following molecules represents the

order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3)
4)

CH,=CH-C=CH
CH, = CH-CH = CH,
HC=C-C=CH
CH;-CH=CH - CHgq

63. Spsean asriuer Cpir welld eg s ds

BlerUILSFETEMD 2 LGNS 6T TUTTESQMD ?

NO,

v )

Y H
NO,
o uf)
Y’ ©
NO,
Y H

(3

NO,

-1 udeS® ellewerancy QUGS Spseireubmier

T

4)

=<

64.
orgl flunerg : (R = <ydenged)

(1) -NRy<-OR<-F

(2) -NHy>-OR>-F

(3) -NHy<-OR<-F

4) -NRy>-OR>-F

65. QLWOmbg UOLTES  NEIHSHET &Q&G&Ml_ TBS
PO EFn DD sp2, spz, SP, Sp @assaLiL| auflansamis
sM_(H ?

() CHy,=CH-C=CH

(2) CHy;=CH-CH=CH,
HC=C-C=CH

CH, - CH = CH - CHj

3
(4)
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66.

67.

Identify the major products P, Q and R in the

following sequence of reactions :
Anhydrous
AlCl;
@ + CH5CH,CH,Cl ——3 >
(i) Oy
P Q +R
(ii) H3O*/A
P Q R
CH,CH,CHg CHO COOH
TelNeNe
CH(CHgy), OH
@) @ CH;CH(OH)CH
CH,CH,CHj CHO
OH
CH(CHgy),
(4) ©/ CH3; - CO - CHg

Which of the following compounds can form a

zwitterion ?

(1) Acetanilide
(2) Benzoic acid
(3) Aniline

(4) Glycine

66.

67.

Epsar  leersaflear  cuflengudled

PSEW

clemarGurmeraser P, Q wpmidb R & sardwiabd :

£lel
AICI,
@ + CH4CH,CH,Cl ———2
(i) 0,
— 2 . Q+R
(i) Hy0%/A
p Q R
CH,CH,CH; CHO  COOH
ol eNe
CH(CH,), OH
@) @ CH;CH(OH)CH
CH,CH,CH; CHO
OH
CH(CH,),
) @ CH; - CO — CHj

Epsarr Camomigailey ergl evaeill LT jweiaw

2 (HeUM& @D ?

(1) <8 afleo(®

(2) QuenCGamuils <=felbd
(3)  ateSlair

4) Semerdle
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68.

69.

70.

71.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1)
(2)
(3)
4) ¢

T ®

On which of the following properties does the
coagulating power of an ion depend ?

(1) Size of the ion alone

(2) Both magnitude and sign of the charge on
the ion

(3) The magnitude of the charge on the ion
alone

(4) The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) H,

(2) Oy

(3) NHj4

(4) COqy

The solubility of BaSO, in water is
2-42 x 107 gL_1 at 298 K. The value of its
solubility product (Kg,) will be

(Given molar mass of BaSO, =233 g mol_l)

(1) 108 x 1072 mol? L2
(2) 1:08x 1074 mol2 L2
(3) 1-08x 107 mo2 1,2
(4) 1-08 x 107 mol? L2

68.

69.

70.

71.

QeucuGouyy  Qeflaysaiics NaOH wpmiv HCI g
QeucuGouny  sarsjerelley Fobgy SWTMESILLIL
Epsar_ sarsdsafla :

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55mL M HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL 1M0 HCI + 100 mL % NaOH

ergen qanler pH <oyang 1 6@ swwrs @ @msEn ?

(1) a

(2 d

3) b

4) ¢

EpsarL by LaLselld @ Sweafluler Fflsed

Sper gnipdmE@GHD ?

(1) ywelufer sereliled U (HLD

(2) Swefllller Wleraend emey wHMID @G0
@reaen_w G

3)  weller Weraennd oeredled LI (HID

4)  Swefluler Wersamw @dleanw L (Hb

NH,, H,, 0, wpmd CO, &g Oer@ssiiuL

euTeRTL T eumebey rdledser wpeanpGui 4:17, 0-244,

1:36 womib 3-59, Spsar. curysseild egl e

& eraflgmas SreuwmEb :

(1) Hy

(2) Oy

(3) NHj4

(4) COq

298 K & $ifle> BaSO, e sanydpeir 2:42 x 1073 gL 7L,

Sigen smTHmer CLImES (Ksp) wEUiLrerg

(Qasr®ssuur L BaSO, er Coremt Hlem =

233 g mol™!)

(1) 1:08x 1072 mol®* L~

(2) 1:08x 10 * mol® L™

(3) 1:08x 107" mol® L

(4) 108107 mol® L

2
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72.

73.

74.

75.

76.

The bond dissociation energies of X5, Y, and XY
are in the ratio of 1:0-5: 1. AH for the formation
of XY is — 200 kJ mol ™. The bond dissociation
energy of X, will be

(1) 100 kJ mol!
(2) 800 kJ mol !
(3) 200 kJ mol !
(4) 400 kJ mol!

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) is doubled
(2) istripled
(3) 1ishalved

(4) remains unchanged

For the redox reaction
MnOj +Cy02” + H' —— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 5 16
2 2 16 5
(3 16 5 2
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g) +By(g) = Xy(g) A H=-—XkJ?
(1) Low temperature and low pressure
(2) High temperature and high pressure
(3) Low temperature and high pressure
(4) High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) volume of the gas molecules

(2) electric field present between the gas
molecules

(3) density of the gas molecules

(4) forces of attraction between the
molecules

gas

72.

73.

74.

75.

76.

Xy, Yy wpmid XY e Gevewriiy Gflens <y,mmed
1: 05 : 1eramp elassdled 2 ererg. XY o (Heungsed
AH sparg — 200 kJ mol™l. X, efler Gevawriiy
Wflens <y mooTerg)
(1) 100 kJ mol ™"
(2) 800 kJ mol™*
(3) 200 kJ mol™*
(4) 400 kJ mol ™!

ellenaruB G Limmert e Qedey
@mwLBsT@EDd Curgl, @m Uhweiams aleearuder

QzT_&s

DD QUMDPE| &TEOLD

(1) @@wwLEsTED

(2) bLLBESTED

(3)  urdum@b

(4) wmPTE @ HSEGD

255nCardn @h&s faaruirer

MnOj +Cy02” + H'—— Mn®" + CO, + H,0

@ser FOTAIOTSSULIL L FoeTUT g6  elaneru(

Qurmefler sflwrer Qspeurearg)

MnO; C,07~ H'
1 2 5 16
@ 2 16 5
3) 16 5 2
@ 5 16 2

EpsarL aéGpHlamouler Hsur g eflanarummer
@eucilananile o (Heus gleum@L,
Ay(g) +By(g) = X5(g) A H=-XkJ?
1D @onhs HmDd  GODHS
DAWESLD
(2) <dls Qauiublene LOHNID AFS (PSSO
3)  ©opbs Qeutiufleane LHMD HHS (WPSHLD
(4) <@ds Qautiuflenew LOHNID GHODHS H(PSSLD

Qeutiublaned

B LI eumy FwerUT iged Hmsss srranl ‘@’

@sH& Qs wg

(1) ey pposammsaier sarsiere]

(2)  eumyy
e entd

eLpev&Han Mg @nsSlenL_Cuw [GEIGHY

(3) ey ppessmmsaiien L5

(4)  amy eposamms@Epsdla Cu o 6rer seurss
cens
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71.

78.

79.

80.

81.

82.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNOj,, NO, NH,CI, N,
(2) HNO,, NH,CI, NO, N,
(3) HNOj, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MF63 “ion ?

(1) Al
(2) B

3) Ga
(4) In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Zmn

(2) Mg
(3) Fe
(4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<In<Ga<Tl
4) B<Ga<Al<In<Tl

Which of the following statements is not true for
halogens ?
(1) All are oxidizing agents.

(2) All but fluorine show positive oxidation
states.

(3)  All form monobasic oxyacids.

(4) Chlorine has the
enthalpy.

highest electron-gain

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) two
(2) four
(3) one
(4) three

71.

78.

79.

80.

81.

82.

FsRlwmesr

N Ceiromigefl e @ i@ fag
B 5FnCardm Hlenesaten euflagwmearg

(1) HNOg, NO, NH,C], N,

(2) HNOg, NH,C], NO, N,

(3) HNOg, NO, Ny, NH,CI

(4) NH,CI, Ny, NO, HNOgq

EpsarL safllngdld gl eremm MFg_ Swaflenw
2 (HeUmd @, @uwerg ?

(1) Al

(2) B

3) Ga

(4) In

elEanmd  ULFws  HMmSHD  GEmarrme,

EpasarL 2 Carshseild og Qilamame @H&Es
vweruGmg ?

(1) Zn
(2) Mg
(3) Fe
(4) Cu

Qsm@ad 13 gaflwmiseaiar sflwrear g <, rhiserfer

cuflengwuinerg|

(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<In<Ga<Tl
(4) B<Ga<Al<In<Tl

Epsar.  s@mpmiseild  anreomasErs@E gl
2 arenLo ullebsmev ?

(1) ervbamd &8leCarhbluim@Ld.

(2)  yepfener selisg) S MTEHID Cmir

B &5FnCGardm Hleneenus sT_(Hib.
(3) crebamd RHEDSTT &S HOOSMS S(HLD.
4) @Carriler flawrar ereslgrer - GHOO
eramgmenlyl o anL_ig).
CIF3 @@wude, eww ja ‘Cl oder salss
Qs gren @l e safler crapranilEanswnarg)

(1) @rewr®

(2) mrenE
(3) qerm
(4)  ppengy
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83.

84.

85.

86.

The correct difference between first- and

second-order reactions is that

(1) the half-life of a first-order reaction does not
depend on [A],; the halflife of a
second-order reaction does depend on [A]

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaHy, the order of ionic
character is

(1) CaH,; <BeH, < BaH,

(2) BeH, < BaH, < CaH,

(3) BeH, < CaH, <BaH,

(4) BaH, < BeH, < CaH,

In which case is the number of molecules of water

maximum ?

(1) 0-18 g of water

(2) 000224 L of water vapours at 1 atm and
273 K

(3) 18 mL of water

(4) 102 mol of water

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br «<———— Br,

1-0652 V 1-595V

Then the species undergoing disproportionation
is

(1) Bro;
(2) Bry

(3) Bro;
(4) HBrO

83.

84.

85.

86.

(PSD LHHID @raTLmd cuens ellenansater Fflwmer

Coumiim(h ererLig)

1) s aws comadar <oy ampe| [Al,
MBS (H&STS; GremLmbd euens ellenaruder
<o eumpey [Aly sribglmEELD

(2) s cuNS cllanamenw
amaryssliuBSSOTD;  @UaETLTd  eUens
Menarenw eflevary&EsliL(hss Qweng

3B) s s et  cllaarGausbd
el et (h 16l Lim(merf bt Qedlaneu

FTihS(HESTEH; @rewmLmbd euens ellaneruder
camarCeausd  alenaru®@ummefler Gashaa
EARE GG

4) wse» ums  earuden
clemaru Qumpefler Qedlaney Fmibd (HE@&LD;

NevarGausid

@uearLmb-aiens  elearuder  elleamearGeousbd
clenaru(y Qummefer Gedene gripd(HEHTS

CaH,, BeH,,

ueT e euflenswimeng)

(1) CaHy <BeHy < BaH,

(2) BeH, < BaHl, < CaH,

(3) BeH, < CaH, < BaH,

(4) BaH,; < BeH, < CaH,

EpaarT_eunbled Tled ity [OREEN R

craenilsans sl Fomi @mE@Gn ?

(1) 0-18 g fMed

(2) 1atm wpmibd 273 K e 0:00224 L S
<6ilufled

(3) 18 mL ffed

(4) 1073 Guomed Fifled

&G

BaHy < dlueupdeper weaflt

o grer srliquilmring  Gumed
L Cymidle et

LTHDSES

UL SSeb
GeueuGoupy emf  pFlyew
58lnCardn  Hlavouler  gHu@BbD
SHSHed Qamesmmed :

- 182V - 15V
BrO, — BrO3 ——> HBrO

Br

10652V 2 “Ts95v
Algs fange s 2 aerm@h 2 miLTeag
@QJD@')LD.

(1) BrO,
(2) Bry

(3) BrOg
(4) HBrO
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87. Consider the following species : 87. Q@daniLsmer er(HSgE6sTarTLTeD
CN*, CN”, NO and CN CN*, CN", NO b0 ON ,
Which one of these will have the highest bond el @m@_é@] SLomer HiepaTHUSISmS &gl ¢
order ? (1) CN
+
3) NO
(2) CN* §4; ON
(3) NO )
@ CON 88. &g @ sauprer smbm ?
88. Which i tat ¢ 2 (1) @ <MLL PP GeUTETLLD GTERTSETTE)
. ich one is a wrong statement ? AL LA Qe . e
GAUELLLGdps P @f @6l
(1) An orbital is designated by three quantum (1 Qs yrer  BmeE (HEUMGHTLLD
numbers while an electron in an atom is aramsarmed GO LuGADS.
designated by four quantum numbers. (2) N <ignieine e emer erblesl rar el
1 1 1
(2) The electronic configuration of N atom is 12 252 2py 2py 2p,
1 9.1 9.1
152 2S2 2px 2py 2pz 1\ ‘1’ 1\ ‘l’ T‘ 1‘ ‘l’
1‘ ‘L T ‘L 1‘ 1‘ ‘l, (3)  ‘S-gymarLmedléd o @Tarm eTQle&Lrmeytl 6o
Qwrss <}, Al Lmed Camewr 2 hsLb
(3) Total orbital angular momentum of electron LBWSSHE& ST 2 6Terg).
in ‘s’ orbital is equal to zero. @) d 2 ér m wHy YHLI 2 des).
(4) The value of m for d 2 is zero. “
z 89. wiep Geutinbleveudey @by bee ewliau
89. Iron exhibits bce structure at room temperature. o @Lwg. 900°C pE G =g fec oiewbrdns
Above 900°C, it transforms to fcc structure. The . Qaut s e 900°C W
ratio of density of iron at room temperature to ongd. - Si@p  Gasiuflowss, o
that at 900°C (assuming molar mass and atomic Q@wlar o igdl efdlgwnang (Qwdar Guomam
radii of iron remains constant with temperature) Bleopuyd OMD e Y  Ceuribleraenu
18 QummSS LIOTH @HLILSTS QETETLTed)
443
1 B 1 B
3v2 372
3v3
@ 3B @ 3B
42 4J2
3
@ B 3 I3
v2 V2
1
- 1
@ 3 CON
90. Magnesium reacts with an element (X) to form an 90. QeSS o (X - o
ionic compound. If the ground state electronic ’ 0% U:Jszﬂ@D(E@&i o _L:;D &&56:;; mem()g 2 :U:r
configuration of (X) is 1s? 2¢” 2p3, the simplest @(5 = B "5) o '® S 9 09 a3
formula for this compound is srpflowa aesigner S@ouuneg 1sT 257 2p
P crafled, H&ECaTSH e eraflandwimer eumiiiLmL_rag)
(1) MeXs (1 MgX,
(2) MgyX (2) MgX
(4) Mg3X2 (4) Mg3X2
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91.

92,

93.

94.

95.

96.

97.

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -80°C

(2) -196°C

(8) -120°C

(4) -160°C

Oxygen is not produced during photosynthesis by
(1) Nostoc

(2) Cycas

(3)  Green sulphur bacteria

(4) Chara

What is the role of NAD® in cellular

respiration ?

(1) It functions as an electron carrier.

(2) Itis a nucleotide source for ATP synthesis.
(3) It functions as an enzyme.

(4) It is the final electron acceptor for anaerobic
respiration.

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Sodium

(2) Potassium

(3) Magnesium

(4) Calcium

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Yucca
(2) Banana
(3) Hydrilla

(4) Viola
In which of the following forms is iron absorbed
by plants ?

(1) Ferrous
(2) Free element
(3) Ferric

(4) Both ferric and ferrous
Double fertilization is

(1) Fusion of one male gamete with two polar
nuclei

(2) Fusion of two male gametes with one egg

(3) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

91.

92.

93.

94.

95.

96.

97.

Syeu anmL_regaled D&THSSSISETHMaT
gamhsar  Coolsg ameuss Quad S re
apLymaie el flane

LIev

(1) -80°C

(2) -196°C
(3) —120°C
(4) -160°C

@Qaundlenr  gaflsCorsamauier GCumg  yseallaen
Casafi L@ eudlevensv

1) previms

(2)  essmav

(3)  usmw FoOUT UTseNUTsSET

4)  smyr

Qe seunélgsadics NAD™ 6 L, erare ?

(1) <@g a@asgrer sLgdwuns QgwduBHng.
(2) <z ATP swurilibe o@m BluselCuran @

LpULD.
3) =g en Aprdwurs QewduBSng.
(4) < smhPloor  seurssdd  seLblaw

erQevdyme ermiql.
Epsaeupmer  erdsafion  Qedseid  alampri
urrofli@er QurmtiCupdpg) ?

(1) Gemgqwid
(2) QurLrflwb
(3) w&etHuwibd

(4)  smSwibd

EDsETL  THS STUIRSERET  Q@ETn,  HGIL
ussluflenr e Spdlasger CApmmSus Qgmry
QaremgmLriugsermed, eqeardlerd HGDTEm FHerg
aumpsas s&pHfeaw Hlane| Qaiiw Quievrg ?

1) woar

(2)  eumenyp

(3)  ewan Méer

4)  eaGurer

Epaesr_cubdler ThS Hlenavsarled @by
sreurhigerTed Hrflssiiu®dng ?

(1) Qurme

(2) s @pr saflobd

3) Quiris

(4) Qumils wHmIb Quigey @ FearTHib

@I L& S(HEYMISHD GTCTLIF

1) @m®m &t Qar¢ Csd, @@ S

2 I H(HESH@EHL 6T @)eneanTelg)

(2) @Qm <gar Qs QFbEeT @f TS5l 6
@ eneanreug)

(3) warHss GYldar Q@ e Qard Ceamser
@ Coum 1 EHTL_EIg%HEHL6T @)enanTelg)

(4) o awewwrer sHaNSH (HAarGsl) WwHmLD
epellanemtay
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98.

99.

100.

101.

102.

103.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D
(2)
3
4)

Sharbati Sonora

Lerma Rojo

Co-667

Basmati

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Council for Scientific and Industrial
Research (CSIR)

(2) Research Committee on Genetic
Manipulation (RCGM)

3
4)

Indian Council of Medical Research (ICMR)

Genetic Engineering Appraisal Committee
(GEAC)

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
(3)
(4)

Ti plasmid
A phage

Biopiracy
Biodegradation
Bio-infringement
Bioexploitation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
3
(4)

Annealing, Extension, Denaturation
Denaturation, Extension, Annealing
Extension, Denaturation, Annealing
Denaturation, Annealing, Extension

Select the correct match :

(1) Fy x Recessive parent — Dihybrid cross

98.

99.

100.

101.

102.

103.

@@ ydwu ol psb oig Sl srob @nduredd
o aretGumgid @  Ceselipm(®  Hloeuarssrd
sriyfenn QUL (HETeTg. 1ig

(D
(2)

giudl CenGerym
Qevirom Grmegm

(3) Co-667
(4)  unswd
gpglureile, LFYLIHHLD eE
o Wiflerisefler  umgismieL  wWHOEH  Cauig

Qurginssefler LweTUT I9H&@E ADWPSD CFiw
Qurmtiy eudls@h Hlpeuerd

(1) <ofellwe whmbd CAsmAbsTT D uie ssTer
&widb (CSIR)

Y, (T Quimmer

< yrEfls @y (RCGM)
@ndwureiler mESSHI WUITUSFHS  (GHLLD
(ICMR)

wryl Qurdlulwe wHilshs @ (GEAC)

(2)

WS WIMEHEISDHES et
3)

4)

Epsareupmer wafls SlbCurens QFdede 6
DNA giam_seng = I Csaiss Qungieuns Liwem(hib
sLs3 etz ?

(1) Ti Germev(®

(2) A Cug

3) QGrrenaureiv

(4) pBR 322

vererm_(h  HmeuarhigeT erenenul  Brligenr 2 uflr
GUETRIGENGETWLD, SSET LESEMETULD  CGTL e
Brlger oenduderd vwetuBSgieug Geueumm
SP&sLILHS DS

(D
(2)
(3)
4)

o Wiliemm Sl
o Wfsermed HanssH6
o Wllirgmi SiGgBMme

o WTEmT SiyeTL_6b

uredlnGrev  gmded  eSlenaruller
Blevavsaflen sflwmear eufleng

(1) ugempoed, FrAymsed, QuedLHamsze
(2) Queyfagsd, B Auymsd, usammbmed
(3) Brfuymsd, QudLSlamssd, LsaTTHDED
4) Queyfamgsd, ugarmdme, Hrdumnised

(PCR) ug

Fhlwrsl QurpssHIULLmss CasmbOgsHhésa|b
(1) Fyx @O@mEueary - @muary sl
QupComir

(2) T.H. Morgan — Transduction (2) T.H. wrirser - m&@T@leL LIHLD

(3) Ribozyme —  Nucleic acid (3)  erGurensd - Hlusells <blen

(4) G. Mendel — Transformation ) G. Gweire - Quawmhpd
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104.

105.

106.

107.

108.

109.

Niche is
(1)
(2)

the physical space where an organism lives
the range of temperature that the organism
needs to live

3

all the biological factors in the organism’s
environment

4)

the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1) COqy

(2) SOy

3 CO

(4) Og

Natality refers to

(1) Birth rate

(2)  Number of individuals leaving the habitat

(3) Death rate
(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
(D
(2)
(3)
(4)

215 April

16t September

5 June

2274 April

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer : 60 g

Primary producer : 10 g
Pyramid of energy

Upright pyramid of numbers
Inverted pyramid of biomass
Upright pyramid of biomass

(D
(2)
3
(4)

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1 Cl
(2) Fe
(3) Carbon

(4) Oxygen

104.

105.

106.

107.

108.

109.

GUETLILIMEIG) 6TETLIG)
(1) 2¥femd grer  eumepd 2 wiflwed wHMID
o lflwe Heoeselar oiFms LweaTLHSHD
cllgLd

o Wflard  eumps Csaeuwner sl ubleul L
ei&a

o iflersdenr sHm @Gpedler 2 6Tem Smarsg)
2 WMlwed whmb Guinwed srrenilser

Grsglen

(2)
3)

4)

2 uilferid QuUT(PLD
QeudurHu ks

A6

EpsarTLeupmedr @rarrLmd Blene s erg ?
(1) CO,q

(2) SO,

3) CO

(4) Og

BT (R eTaTLIgl Tands (&l @D

(1) Qpuy dsn

(2) @m anfisms LB  Br@d
2 Wirseflen ereirentlsans

@nuiy aldlsb

em aurfisded yeb seal o uwlisefler
crarenfilEens

feal

3
4)

2 & eGamer Searnd CaramrLiuhogl
(D
(2)
3
4)

21 erLiyed
16 @&l b

5 aSan

22 erriyed

EpsarL sre selad(hhg ereleuamEWTar @pblamad
Fnb Qupriu@mb ?

@nermb Hlevey mi&TCeumt : 120 g

Wz Hleve maTGeurt : 60 g

s Hleve 2 pusHwumert : 10 g

OO &b

Crymen eramentlsanags gnlbl

(D
(2)
3
4)

2 urQUMHET S Fnlby
cuudlriQurer Cormer bl

EpaairL saflhigefle evl_ Gy GLmev@uwifled
@Gamar  fagller elearysdwuns Geudul ()
ppe&Inn 2pselimer CelaflliLL sTrarToTeug) 6Tl ?
(n <

(2) Fe

(3)  smruer

(4) <y sadlsmen
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110.

111.

112,

113.

114.

115.

116.

Which of the following pairs is wrongly

matched ?

(1) ABO blood grouping Co-dominance

(2) XO type sex Grasshopper
determination

Multiple alleles
Linkage

(3) Starch synthesis in pea
(4) T.H. Morgan

Select the correct statement :

(1) Punnett square was developed by a British
scientist.

Spliceosomes take part in translation.
Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

(2)
3
4)

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Bacterium

(2) Plant

(3) Fungus

(4) Virus

Select the correct match :

(1) Alfred Hershey and - TMV
Martha Chase
(2) Matthew Meselson —  Pisum sativum
and F. Stahl
(3) Alec Jeffreys — Streptococcus
pneumoniae

Francois Jacob and

(4)

Lac operon
Jacques Monod

Offsets are produced by

(1) Mitotic divisions

(2) Parthenocarpy

(3) Meiotic divisions

(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Jackfruit

(2) Mango

(3) Bamboo species

(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1)
(2)
(3)
(4)

Cellulosic intine
Oil content
Pollenkitt

Sporopollenin

110.

111.

112.

113.

114.

115.

116.

Epsa Qeansalld geaumrsl CQUTBSSILL LG
orgl ?

(1) ABO @rss cuans D @enenT Mhi@&HSeTEnLD
(2) XO auens umed Hlirewrwid : Geul (H&Slafl

(3) i Lmanflufed D UOsL () SievedadsaT
578 2 HUSE
T.H. wrigmesr

(4)
gflwner saperp CaTBESHSSD :

(1)  yeer sgyb @ UM Igen iHledlwied
SDEHTTED 2 (HeUTSSLILIL L ).

avliemed CurGarbser LigiGuw e
FHLOE erner.

“Qevawriiy” eremm Qemerene LWETURHGS WeT
coLiymaigeflen auGLane.

miaTantlanl rIHnSms Ser(H g SgeuT

S. <y erGuoetr.

: Genamriiy

(2)
3
4)

ugd urgisrssiiul L DNA psorsssdler <lie)d
smernl (WPSedled PlwiL’ L gl erdled ?

(1) ursefwbd

(2) smeurd

3)  yepans

(4)  emauryev

sflurst Qur@pduerarans CoibosHES6D :

(1) <odlpt Canirad - TMV

wHmibd wrrgsT Caen

W&, WBEOF6T HMID - UFD FL L eULD

F. svCLeamed
28 QegaeLiflen

(2)
(3) - WL QLG s rssen
FlGwmeflCu
(4)  ugremsmiev Coal - @rd @uUTTET
wHmib Ceyd wmemmi
‘Do olIF a6 @gearmd CxmermSlng
(1)  @empmbd L@LiLser
(2)  smeyprs saflunsd
(3) @emwéd LGLYSET
4)  s@apT QarCampod
Epsareupmer serg eumpprailey Cr @@ wean
LU O weieug ergl ?
(1)
(2)
3)  eprdler Apmlerid
4) uwoumef
EPSETL_cUDHMET DETHSSIHISETHMET
Qsmeouigowrst Cuapeudld 2 gellLfluyb erarams
Hodsss gl ?
(1) QedgyCamevmd year 52 amn
(2)  crawm@entis QsmeTig(HLILIE
3) Cumeverdl
4)  wCurCrmGumeedesflesr

Lieorm
Lo
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117.

118.

119.

120.

121.

122.

123.

Secondary xylem and phloem in dicot stem are
produced by

(D
(2)
3
4)

Plants having little or no secondary growth are
(1D
(2)
(3)
(4)

Sweet potato is a modified
(1)
(2)
(3)
(4)

Pneumatophores occur in
(D
(2)
(3)
(4)

Casparian strips occur in
(1)
(2)
(3)
(4)

Vascular cambium
Phellogen

Apical meristems
Axillary meristems

Deciduous angiosperms
Conifers

Grasses

Cycads

Adventitious root
Tap root

Stem

Rhizome

Free-floating hydrophytes
Carnivorous plants
Halophytes

Submerged hydrophytes

Pericycle
Cortex
Epidermis
Endodermis

Which of the following statements is correct ?

(1)

Selaginella is heterosporous, while Salvinia
is homosporous.

(2)
3

Horsetails are gymnosperms.

Ovules are not enclosed by ovary wall in
gymnosperms.

(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :
(1)
(2)

Mushrooms belong to Basidiomycetes.

Pseudopodia are locomotory and feeding
structures in Sporozoans.

3

Cell wall is present in members of Fungi
and Plantae.

(4)

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

117.

118.

119.

120.

121.

122,

Qmeisdamas sTeurs sSeamge @b Hlane
&b Wwhmib LCeTmwd 2 (Heums@eus)

(1)  eurev@gert o ss5%

(2) uleL ss5da

3) meafl ysa58a

(4) Csaranr 55555

@rermbd  Hleve eueriéflanw APlw  sjerellGeor
g PpHMD @amnCam 2 6Ter gmeurmkigeT
(1) @eouydlit UsEh sTeurkiser

(2) Csrefls.Cuiger

3)  ymser

(4) ovgslser

sr&sareleTefls Spmdd wrHnimeTs @ mULg

1) Ceuppl Geuir

(2)  <efll Geurr

3) s

(4)  wir flossar®h

saurs Caulser smentliLi(heug

(1)  sealsg Oss@h Bissreurrser

(2) usSHyemramd STeurmhEISeT

(3)  sgiiy Hlog sreurhiser

4)  eppdu shae Bissmeurmhiser

STELUIMHWET LI L &6T SmenTliLi(heug)

(1)
(2)

Quflengsdler

Ly emf]

3)  uwsCsma

(4) <=55Csmed

EpsarL ampmsailed sflwnergy org ?
(1)  Qeargltlardear @) mElsn auansud
srevaiaflum emAde cuamsu|ors o drerar.
(2) @Hegeured Qureflger ererLiame
sl b Carmen 6 LMD &ET 2p,ame.

(3) HwGarmmev@uibsaiad @GoEeT @0s
sauflemd @GLpriuLalaame.

(4)  @szev LHMID ClFFav Sl @) Teiriq b
sT(Hs6r Qurgeurss Fanersd mLiudoame.

123. seaimner sapenp Coib0sHESED

(1) prus@e & srermeanger CuEiqCuimenndr
au@Llienu Cabgamal.

(2)  wCurCrm yeurssailed QUTLIGSTOSET
@LUGuwie] HmD 2 a@ra,l L
SELOLIL|SHETTS 2 ETeT6T.

(3)  uyeremase LHMID GerTeamTGL <dlweuhmieT
Qed&eulr 2 drerg.

(4) Cuafyr seliigg wHn Currasafle

awl CLrsrerLflwniger Gaoader <phme
GOLOUITRIGETITS 2 _GTETET.
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124.

125.

126.

127.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii.  Alist that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
(1) i ii i iv
(2) i iv
3 i iv
(4)

After karyogamy followed by meiosis, spores are

iii i
iii ii

iii iv i ii

produced exogenously in
(1)
(2)
(3)
(4)
Winged pollen grains are present in
(1)
(2)
(3)
(4)
Which one is wrongly matched ?
(1)

Alternaria
Agaricus
Neurospora

Saccharomyces

Cycas
Mango
Mustard
Pinus

Biflagellate zoospores Brown algae

124.

125.

126.

127.

Epsam_cupmer Fflwrer el eows Csiblshss
Qzrgd I wpnibd Asm@d -5 Qurmss er(psgis :

Clasr@dl 1 Clar@dl 11
a. 2 @ff L ugliu(@SSLIULL STeury
STUrSQsTGULY  wHnID elenE QMm@ ser

Qsmapr @ L Lb.
b. SpeyGared . @flLgdléd smenriu@Bibd
Simandg Hbdlerhiseter
sm&swrer elleufliyLer
Fnlq W euflanaddlrL e
SETLMSNEHE 2L Ll Ig.
c. SHEsTHusbiil. 2 wisd SipssriuLlL

sreuy wrHlfsdr grafled

UL Ul (h emeussliu(hib

@LLb.

d. @l Leuament iv. LeGoum LéFTeTsamar
seTLHw 2 g6 b
LIGRTL SEnETULD <6 b6
LDITID M) &EM 6T LD
Ll iquedtu L e Sy
LSSSLD.

a b c d

(1) i il i iv

(2) i iv iii i

3) i iv iii i

iii iv i ii

4)
avGunirger srAGUrsTS CQgrirbg eOH&sHIAMaey
Qeuafitiygons GCareammielg) eTdle

(D
(2)
(3)
(4)
DGO OSTHSSTISETHET STenTliL(heug
(D
(2)
(3)
4)
T8 SeuprsL QummssLiLL (HeTerg) ?
1) Qw samsulian

GeGum

<6 irGerilum
D& miflsan
Bl Crmev GLmym

F155CrTen oS

MFHGIV

Lom

s0G

0 LIGITGI

- UL HO&ETEE6T

(2)

Qe Carlieuser - wrigrerdum

(2) Gemma cups — Marchantia i . q oo G
(3) Uniflagellate gametes — Polysiphonia 3) gm L‘;”D 8(;65;?5 e T LTS MLTeLT
SLOIL_(HS
(4)  Unicellular organism — Chlorella
4)  em Qg 2uif - &Germllyesbeur
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128. The two functional groups characteristic of|128. siggemysafien Apriurer elenerd0 g m@dser
@ & SIS,
sugars are (1)  sruemere wHHID GosHed
(1) carbonyl and methyl (2)  srrumeTdd wHmID LmeLGLIL
(2) carbonyl and phosphate (3)  aeanl gr&sld wHmib s
(3) hydroxyl and methyl (4)  srrUMETdD WHMID manL TTESle
(4) carbonyl and hydroxyl 129. Epsareupmer gallsCaismauier gefl allaerudenr
129. Which of the following is not a product of light eflewar@unher Sjbevnsg) ez ?
reaction of photosynthesis ? (1) NADH
(1) NADH (2) NADPH
(2) NADPH 8; gTP
(3) ATP . xyg.en . .
(4) Oxygen 130. Epsareupmer HCrmamACwT syebevrsg et ?
. o (1) ewsCasmumsieflub
130. Which among the following is not a prokaryote ? , .
. (2)  prevLmé
(1)  Mycobacterium Q)  srasCrrarioda
(2)  Nostoc 4) <yfoaCmilum
(3)  Saccharomyces 131. Qaasgmer QUEHD @sarmed LTS adlesme
(4)  Oscillatoria (1) gef
131. Stomatal movement is not affected by (2) 0O, Qadlay
(1) Light (3)  Qeautiu Hlenew
(2) Oy concentration 4) €O, Gslay
(3)  Temperature _ 132. Garées 2 pirilser Geupdle umGsndlemmer
(4) CO, concentration 1) a0y @user Ganemse
132. The Golgi complex participates in (2) ursefursseid sFeurdlgse
(1) Formation of secretory vesicles (3)  Gampuy Sfle dogsse
(2) Respiration in bacteria 4)  <sufGarm syfle Hewa@mssd
(3) Fatty acid breakdown 133. Spsam_aubpier 2 L g(mLoan] GNSS il
(4) Activation of amino acid sflumang ?
133. Which of the following is true for nucleolus ? (1) C(_’)@J @@5 .6%“@4 S _CNGMDU_"" )
(1) Itis a membrane-bound structure. 2) @D"C']_GWL‘?GD Goop Corempiaifled LIkIE
. . . adlsderme.
(2) It takes part in spindle formation. . q . . ]
(3) Larger nucleoli are present in dividing cells. 3) H&UY mﬁm’l_ LI g{’fm&@‘ﬂm CELIE
(4) It is a site for active ribosomal RNA =-e00 _Mﬂ asrremuu@ GN_H) e .
synthesis. (4)  egCunGsmbd RNA swrflider gerb.
134. The stage during which separation of the paired 134. @%”,Lq' . Cg&,ﬁﬁ’g’ @bs SCIGrGembsdr Al
. <Y T&@ED Hlane
homologous chromosomes begins is i ]
(1) Diplotene 1) quiGertiedn .
(2) Diakinesis 2) i n@a;méﬂ@m
(3) Pachytene (3) wurélieer
135. Stomata in grass leaf are 135. ymsafler Qanasgiamaersar
(1) Kidney shaped (D) Ayprs eugeureng)
(2) Rectangular (2) sgiywreag
(3) Dumb-bell shaped (3) =2(s®s augarang)
(4) Barrel shaped @) Soum ageurang
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136.

137.

138.

139.

140.

141.

Nissl bodies are mainly composed of
(1) DNA and RNA

(2) Nucleic acids and SER

(3) Proteins and lipids

(4)

Free ribosomes and RER

Which of these statements is incorrect ?
(D
(2)

Glycolysis occurs in cytosol.

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.
(3) Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in

outer mitochondrial membrane.

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Heterodont
(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Allosomes — Sex chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
3
(4)

Protein glycosylation

Cleavage of signal peptide

Protein folding

Phospholipid synthesis

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polyhedral bodies
(2) Plastidome

(3)
(4)

Polysome

Nucleosome

136.

137.

138.

139.

140.

141.

Blevadled
srenrliL(heugl
(1) 1g.6T6br.cr. LOHDHLD i GTET. 6.
(2) fPuseis oo womd SER
3)
(4)

Gereu(md Fmpmiseiieh Seupnerg et ?
(D
(2)

2 piiiysefléd Qu(mLUTETELWTS

YUSmsEr wHmd dlig@Haser
salss epCunCambaer wHmib RER

faneraralllev engl CLmameler Hlapdmg.
manl rmer  Aamis@&GeT gn@nd NAD  &ser
@ m&ED euay daeramedlslen Hlspib.

(3) TCA spméluller Qprdaer el L maramriqflum
wrfgefled 2 drerg).

4)  yp ewlLrsrargfur Feuelld <psHAGL L 1qe
umeUmiGeager HlapLb.

weaflg Ldeeawlienu elaré@h GMser wrene ?

(D

$&CaHTLTE, @l oeamuCuimmeirt.,

Cam 1 Crmme

(2)  yerGrriner’, GorearmapuGuim_mer,
CammCromL_mebri

(3)  S&CsmLmenl, enlo.emuCuim e,
CammComL_mebr_

(4)  yepGrrimer, el o.enuGuimLmerL,
Caw 1 Crmmer_

seupns ummbdlujerer @aeamaw Carbs® :

(1)  <CerCGambser - umed

&CrmGurGambaer

(2)  &p QuinGsengfs - L- eugeu
&CrrGLrGambaer &CrmGLrGaid

(3)  embLribyev - g LiCermieeir
&CrmGurGamibaer auGeuaear(Ha6T

4)  ureen - @meurpellsafler
&CrrGLrGambaser oaren &L (&6

Gereumd ehg Hlapey QerpCemriiurer osllerrs
cuamaleararellédy (RER) flspeidlsvsnsy ?

(1D
(2)
3
(4)

4rs faerCarlenssbd
Ghlang CQurienL_(haefler eTe
LIS LiglY

ureGuTI G 2 (HeuTssid

ueuy  urdl@uiemL(Basmer  @Cr  FowSSD
2 meurss ue enyGurnGembger e@m MRNA )L
@aeryb. Assmsw Csrii arGurGsambsaefer
Quuwir

(1)
(2)
(3)
(4)

uredlGanl g 2 miLiL|ger
Wermevig CLmbser
uredllCamib&er

Bl seflCurCambsaar
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142. All of the following are part of an operon except 142. Yereumeuareupmiat  @ulrrGearr(h  QaTLruHDS/
(1) structural genes ergl ?
(2) an enhancer (1) Si@wiy e
9 ..
(3) an operator ) &UJFT‘&)‘@ e
3) Qu&s wrua
(4) a promoter 4)  Qewdu® wrLg
143. A woman has an X—hnl?ed condition on one of her 143. o OQuanefigneoLw X @GrmGorGsmad
X chromosomes. This chromosome can be ) . . . .
i j X- Qevenriiy Crmuip@fiu srranflger o ererblgeafe
inherited by . . - .
Ssmar OS5 samepanuid CumnueTser wmr ?
(1) Only sons (1) wserser L (HID
(2) Only grandchildren (2)  GurQeTaerser L (HLD
(3)  Only daughters (3)  w&aTsET WL (HID
(4) Both sons and daughters (4) a6 LHOYID OSETHET
144. According to Hugo de Vries, the mechanism of |144. adwyCsr g effev Ly ufarmosHer Gawdpea
evolution is wrgl ?
(1) Saltation (1) sroGLoagerger
(2) Phenotypic variations (2) ypCsmhm wrLTHSET
(3) Multiple step mutations (3)  ue ughlere FefbrHorhiseT
(4) Minor mutations 4)  APflwere| SHeiomHphiser
145. AGGTATCGCAT is a sequence from the coding|145. ¢ Saflar @dpan Qawpuid o dmer cuflas
strand of a gene. What will be the corresponding AGGTATCGCAT erafled, LigQuBssiur. mRNA
sequence of the transcribed mRNA ? efled e Qamiryenw cufleng erg) ?
(1)  UGGTUTCGCAT (1)  UGGTUTCGCAT
Al A A
) GGUAUCGCOAU (3) AGGUAUCGCAU
(4) UCCAUAGCGUA
146. Match the items given in Column I with those in (4) UCCAUAGCGUA
Column II and select the correct option given
below : 146. Spsareupmer eflwurer e emws CsibOsHsg
Column I Column I1 Qzred I wpnibd Asm@d -5 QuTmsS er(psis :
a. Proliferative Phase i. Breakdown of Qsred I Qsmed 11
e‘nc.lometrlal a. Qumss Hleara i erarCLrm@r M
lining UL HAogsed
b.  Secretory Phase ii. Follicular Phase b. sr&@b Hleave . coumedl@emit Hlena
c.  Menstruation iii. Luteal Phase c. wrseiL T iil. g iqgwied Hlanew
a b C a b c
1 i iii ii 1) i iii ii
(2) ii iii i (2) ii iii i
(3) iii ii i (3) iii ii i
(4) iii i ii (4) it i ii
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147.

148.

149.

150.

151.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(D
(2)
3
(4)

Mutualism
Parasitism
Commensalism
Amensalism

All of the following are included in ‘Ex-situ
conservation’ except

(D
(2)
3
4)

Sacred groves
Botanical gardens
Wildlife safari parks
Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 1 Column I
a.  Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c.  Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i iii iv ii
(2) iii iv i ii
(3) ii i iii iv
4) i ii iv iii

In a growing population of a country,
(1) reproductive individuals are less than the
post-reproductive individuals.

reproductive and pre-reproductive

individuals are equal in number.

(2)
(8) pre-reproductive individuals are more than
the reproductive individuals.

(4)

pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1)
(2)
3
(4)

Latex
Roots
Flowers
Leaves

147.

148.

149.

150.

151.

wmbNeTw6dler  DeTqmULT I4E  O(HhSISMET
swrflés  ereueuamswnar Qarsbgsreans 2 najipeann
vweru G ?

1) udlipgipey

(2) U (heaweni 2 pay

@) pouidoans 2 e

4) efar 9fe @miLamil 2 ey
emeumeuameupmier ‘CoubdlL LimgismiiLy
(PDDLIDVTSS oTgl ?

(1) GCsrellh srhHser

(2)  smeuredwed LmisT

(3)  euar eflmiE Foolimfl LmisT

4)  eaumsg aund

EpsaLeupmer eflwrer e mws Csiblsdss
Qzred I wpnibd Asm@d -5 Qurmss er(wais :

s 1 seid 11
a. Wl (G 96Csageri. UV-B adli eiga
b. fiLsfle) Qarer@®  ii. sTLfEF6
smpajflasms
Broyse
¢. uafl GO iii. oer” L L@UmHET
WevgemLo
d. b LB iv. sfley Cuwerareio
a b c d
(1 i iii iv ii
(2) iii iv i ii
(3) ii i iii iv
(4) i ii iv iii

(M BTL_Iq6T GUET(HLD s36TS6lETanaulley
(1) Yer Qar@umss Hlavouley 2 eTer BLITHEMET
A @arCumss Hlaneuller o 6Ter  BLITSHET
Gl

@Qartumss Hlaeulledr o 6rar BLITSEHD (6T
@Qartuméss  Hlaveudldd o @t BUTSEHLD

FIOLDMTE O _GTGTETIT.

(2)

3) @arumss Bleveuld o dter pUTHmeT 6L
et @attumss Hlaveulley o eer  BLITEHET
SSGD.

@artumés Hlevauded o eter BLTGmeT 6L
et @Qartumes Hlaeuild o eter  BUTGET
Gohey.

umind Gegufer erhs LIGH “evCws” erarn Cumans
w@Ebag sWTH&Es LweaTLhHng ?

(D
(2)
3
(4)

(4)

Covl_L_&ev
Gaurrger
DG ITSHGT
@aET
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152. Among the following sets of examples for|152. &flfflene uflenrmosShH & Qarmésur L
divergent evolution, select the incorrect option : TBSg5ET_(Haefler Saupmens erg) ?
(1) Heart of bat, man and cheetah (1) aucuaraure, wallgar Hmb Essreilen @suib
(2) Brain of bat, man and cheetah (2)  audiaraind, waflper LOID Egprailar epaar
(3) waflger, eucuareurd  wHMD  Fssmelen
(3) Forelimbs of man, bat and cheetah (PSTETAIHTED
(4) Eye of octopus, bat and man (4) <=5l U6y, eusuaraimed oMb wefllseiler sar
153. Which of the following is nof an autoimmune 153. Aemeimeuamauppier  agl  ‘gor  erdiuy’  Cpmo
. 3/606v ?
disease ? o ) o
(1) Rheumatoid arthritis 1) rﬂ”)_'—'—”_”"@ %r@mm—“}m
(2) Alzheimer’s disease 2) oo CS(rjr, i
(3) Psoriasis (3) (Bacr.rrﬂu_mé]mu
154. erCmmu Q&raeiermed SL55LILIHLD
154. In which disease does mosquito transmitted waraufGemd Hearfi prevfsefied preU L
pathogen cause chronic inflammation of <H8 gHUDESSHDg ?
lymphatic Yegsels ? 1) siavsriurden
(D A.scarlas1s . (2) Ameuird Gpmi
(2) ngworn‘a d‘lsease 3)  eelCuengwndlan
(3) Elephantiasis 4)  Beuwurda
(4) Amoebiasis
155. umed sWlprs wIMD CUTE SFer 261’ 1§55 LI
155. Conversion of milk to curd improves its ahg el LLilan Sjere| 2 wieugned siglsflssng
nutritional value by increasing the amount of (1)  eveul_LiSer A
(1) Vitamin A (2)  eeur Liflar Byy
(2) Vitamin By
@) Vitamin D 3) eeuLwer D
itamin . .
(4) Vitamin E @ @acifa
156. pgCsqiblseiien (perarmhismesarf e
156. The similarity of bone structure in the forelimbs TIDUEMLLILYAGD 2 6TeT @hmiend eTEH S,
of many vertebrates is an example of QICEEEE N
(1) Analogy [@)) @{mnm@
(2) Convergent evolution (2) @elflene ufarmom
(3) Homology (3) Gammomregl
(4) Adaptive radiation (4)  spell Lreue
157. Which of the following characteristics represent |157. weflsefler @réseians umpbufuses slwurs
‘Inheritance of blood groups’ in humans ? NersGeus 65 ?
a. Dominance a. fHlep Curhisd
b.  Co-dominance b.  gimen Curhised
c.  Multiple allele c. U GO ddser
d. Incomplete dominance d. GopCurkse
e.  Polygenic inheritance € Le oyugl Umpbulwib
(1) a,bandc (1) a,bwpmide
(2) b,dande (2) b,dwomide
(83) b,cande (3) b,cwpmbe
(4) a,cande (4) a,copmibde
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158.

159.

160.

161.

Hormones secreted by the placenta to maintain

pregnancy are
(D
(2)
3
4)

hCG, hPL, estrogens, relaxin, oxytocin
hCG, hPL, progestogens, estrogens
hCG, hPL, progestogens, prolactin
hCG, progestogens, estrogens,

glucocorticoids

The contraceptive ‘SAHELT

(1) increases the concentration of estrogen and
prevents ovulation in females.

(2) 1isanIUD.

(3) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(4) 1is a post-coital contraceptive.

The amnion of mammalian embryo is derived

from

(1) endoderm and mesoderm

(2) mesoderm and trophoblast

(3) ectoderm and mesoderm

(4) ectoderm and endoderm

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed.

(2) In spermiogenesis spermatozoa from sertoli
cells are released into the cavity of

seminiferous tubules, while in spermiation

spermatozoa are formed.

3

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(4)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

158.

159.

160.

161.

spiajbpere LFTwflés GerTaearmeurd &rdslinHim
anmrGwrersdr wraeu ?

(1) hCG, hPL, rreviqyege,
&Gl e

hCG, hPL, | CyrQeevr GLmegerr, Frevig Fegenr
hCG, hPL, | Gyr@eevrGLmeger,
LCrmevmdig 6t

Neorsser, <
(2)
3)
(4) hCG, yGyrQeyev GLmegewm, FravIqTeg6H,
&@p&CHTHTTL 19 HTI(H&SET

<

FmCanel’ cTeimn &(HSSML FTHETLD
(1) Quemrsefled meviqrmer eTeney 2FlsM5g)
Sjar_Gsd Qesaflurgeane 5HSSHDS.

e IUD.

SHUMUUNQIETET FFevLg Tee erhLlsenar
DEFH SHAPLL LFusmns SHIMG!.
HemTTged @, MWer LwemLhSSIU B

H(HSSHE L FNGETLD.

(2)
3

(4)

Ll iq &eifleim
creupMed(mbg QareaurriiuBSng ?

(1) eramGLr@Libd whmid BCem@L b
(2)
(3)
(4)

& (60l @Yl eI <}, eflwimen

BCer@Limb whmd HCrm-Cumiermevi
er&GLrGLmbd whpd BCeT@LTD

er&CLTQLTD wHmib ererGLmGlLimib

e @ umAGuITCeefléleven &@Ld
aGuTBCueagaisEHL @enLuled o drar
Coumiur(hser org ?

1) ewQumsCureeifeverdle
av@uiol L rGameursger 2 (heundlearner;
av@uTsCuagaile ev6umom g (Hser

2 (e mdlemm et

QU GurCgeflflevelicr @arGLmed
Qedgafled(mBbg evCumol GLrCareumdaser

(2)

Qeilafl.Cure @peflayer

Cauaflliltiu@dlemmer; av@uimsGuaneflen

avGuil CLTGsmeunss6r o (heumdlermer
(3)  evQumSCureealfeveldler ev@ LTI Ig(H&SET
2 peurdlemmen; 6v6LTBIGLIag e
QUL LT Gareursser 2 (heurdlenne
QU Guir@eyeflélevedle

av@urol L rCareundger o (Heourdlemme;

(4)

av@QuTsCueagaid® evGumol GLrGareunssar
Qaslafs.Curen @Lpeflaer
Qaueful LB & ermesr
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162.

163.

164.

165.

Which of the following is an amino acid derived
hormone ?

(D
(2)
3
4)

Ecdysone
Estradiol
Epinephrine
Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) consists of fibre
tracts that
interconnect
different regions of
brain; controls

movement.

Limbic system

(2) production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

Hypothalamus

(3) Medulla oblongata :  controls respiration
and cardiovascular

reflexes.

band of fibers
connecting left and
right cerebral
hemispheres.

(4)

Corpus callosum

The transparent lens in the human eye is held in
its place by

(1)
(2)
3
(4)

ligaments attached to the iris
smooth muscles attached to the iris
ligaments attached to the ciliary body

smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1)
(2)
(3)

Progesterone and Aldosterone
Estrogen and Parathyroid hormone

Aldosterone and Prolactin

162.

163.

164.

165.

NN € SjBlwsS dl(mHS QameoryriLl_ L
anmiGumer erg ?

(1)
(2)
(3)

4)

eréenL_Cgmebr
e g e Guimed
WA NN )
mreivlg.enFGuwimed
19 6treu (6L @TeU DI ET CTHS S{EMLOLIL S| eT
QewCer® saumrs QuTmbdwerarg ?
(1) bl9s Qsr@d : epaerulen Lo LGS smar
@anenTs @b BT
& (D 6N &6 6T
Qs meTiy (HE@GD, @)Lds
Qewdsamer
SL_(HUL(hSSID.
(2) eapuiGurgemoey : &rliL apmiGuwrarsaman
2 Hugd Gewig, Geul Lib,
uél O FTEsmS

ETu(HSEILD.

(3) GQuw@meer : &eUmED WwHmib smirgGuim
Sl QUTE @G SferflFenFsenerr
sOUUOSSH DG
(4) sriuey sCemabd @ g WLHDD @)L g
Qumepener
N EE T

@ eanmd @b BT HHEDSET.

weafly sansaid o der eafl 2a@H@mebd elldena
Sigen Hlaneudled ergerm eped HlmissILOS DS

(1)  efevGar® @eaanhbdms@En s e hiser
(2)
(3)

aflevCan® Gaambd(h&E@ED Gandlasser
FSlwf 2 muiCun® G eventbd @0
&0 essT () G

(4)  ENwf 2 muiGur® @eveantibd (@D

Querdlasger

< e GurCumyfleveiled waHlu L@ udd@n
anmiCGmer erg ?

(D
(2)
3

HGrrlleyeivig Grmetr obmid yedL_maviq Gymer
FFGIVIG TERGT LOMHMILL LIMFTeng Tl (h ammirGomest
<L mevig Grmer HOLD LGTTemésiq 6

(4)  uryrensrmii(® mirGLomesr WwHmILD
(4) Parathyroid hormone and Prolactin '&J, . o ¥
Y Gymeomdsiq et
HLAAC/KK/Page 37 SPACE FOR ROUGH WORK English/Tamil



166. Which

167.

168.

of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1)

Increased number of bronchioles; Increased
respiratory surface

(2) Increased respiratory  surface;
Inflammation of bronchioles

(3) Inflammation of bronchioles; Decreased
respiratory surface

(4) Decreased respiratory  surface;
Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 11

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c¢.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1) i iii ii

(2) i ii iii

(3) il i ii

(4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column IT
2500 — 3000 mL
1100 — 1200 mL

Column I
Tidal volume 1.

Inspiratory Reserve  ii.

volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1 iii i iv ii

2 1 iv ii iii

(3) il ii i iv

4) iv iii ii i

166.

167.

168.

SELGIOT  HMLD  eTbe.lAfreley  mienFuireSien
Blevoenw perpGur sflwres @diug erg ?

(1) QyrerensCuirevset e eremeantseans
s fgsd; seurs Ly oHsfssd
(2)  seurstiugliy oFHsMgse;
WrmerensCuimersatled spHdl ehuB e
(3)  WprerenasCurdsefld spnHd gHLBS®; Feurs
UL &enged

Feung UL Gensd; LrrearansGuimdsaafld
Fphél gHLSD

EpsaLeupmer eflwrer e mws Csiblsdss
Qzred I wpnibd Qsm@d -5 Qurmss er(ais :

Clgr@dl 1 AELGER
a. epellgp eumedey 1. @Lg gl flwbd wHmd
@L g Couerigflssler
@enLudled
cuegl Glouemig M&dlar
O HieoTuiTed Swefl
@enLulle
cuegl erlfluid wHmILD
cuegl Glouerig M&dlar

(4)

b. @meilsp curday ii.

C. @rall L aumdey iii.

@aenLuldle
a b c
1 i iii ii
(2 1 ii iii
(3) il i ii
(4) i i iii

Epsaeupmer eflwrer o mwus CsiblsHss
Qzred I wpnibd Asm@d -5 QurmsS er(ais :

Clasr@dl 1 Clasr@dl 11
a. &gy i. 2500 — 3000 mL
b. o @rpFas smiys ii. 1100 — 1200 mL

Cs585 GameTeremay

C. LD&eUTF REIEHS iii. 500 — 550 mL

Qs méTerera,]

d. sm@ Qarerereray iv. 1000 — 1100 mL

a b c d
(1) il i iv ii
2 i iv ii iii
(3) il ii i iv
(4) iv iii il i
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169.

170.

171.

172.

Which of the following gastric cells indirectly

help in erythropoiesis ?
(1)
(2)
(3)
(4)

Mucous cells
Goblet cells
Chief cells

Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I

a. Fibrinogen i Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i ii iii

(2) i iii ii

(3) iii ii i

(4) ii iii i

Which of the following is an occupational

respiratory disorder ?

(1) Silicosis

(2) Botulism

(3) Anthracis

(4) Emphysema

Calcium is important in skeletal muscle

contraction because it

(1) activates the myosin ATPase by binding to

it.
(2)

detaches the myosin head from the actin
filament.

3)

binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin

filament.

169.

170.

171.

172.

erflsCrrCumuflenss LDEM(LPFHLOTSE 2 @b
smevl_ g QFsar org ?

(1)
(2)
3

4)

Bl ssev QFasar
Cariiewl Qadger
&1 QFevser

LT L 6 QFv&er

Epsaeupmer eflwrer oL mwus CaibOsO s
Qzred I wpoibd Asm@d -8 Qurmss er(Wais :

Claradl 1 Clargdl 11
a. caulifiCarmeger 1. pevOTigs Foaflane

b. &Germeflesn . @rssbd 2 dnsd

. peLler 1. urgsmiy QEwedpenn
a b c

(1 i ii iii

(2) i iii ii

(3) il ii i

(4) ii iii i

ereumeuareummieT ergl Ggmfler QgriTurer seurs
Camarmy ?

1) HeCsrdlev

(2)  ur@pelsmd

(3)  yndrrélev

(4)  erebQ&im

TIDL FMF FH(HBIGSD STOHLID (&Sl LiewrL
udlsfng gllarafed

(1)  ewCurfler ATPase &L @Qenanthgl @Fanaer
Qeudu®ssHng.

(2) ewCurfler samaen &l 6r
@apsailadmbg 9N&H D).
3)  ©CrmGuraiayL e Qaenrbgl,
aDESILL g HEGD eCunslassrer
Qewddper u@dsmer QeuallliLBSHE DS
(4) QuGuréler Gm&E Qe HMID g6
@apsaiiaie_Cu gHuBbD WenawriiLsamer

EICEE LR
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173. Match the items given in Column I with those in |173. &psar_eupmer eflwrer dloLamwus CoiblsOss

Column II and select the correct option given Qsred I wpnbd Ggm@d -0 Qurrsd o Wes :
low :
below Clasr@dl 1 Clar@dl 11
Col 1 Col I
orumn orumn a. dearGam@Num L epr@seid wis
a.  Glycosuria i.  Accumulation of uric e Geiged

acid in joints
b. Qserl ii. AnBrasdneer
b. Gout ii. Mass of crystallised ) .

SrerlIL(HLD SHeor

salts within the kidney . .
LIg &SLOMET 2 LIL|&6T

c. Renal calculi iii. Inflammation in ] ) )
glomeruli c. feb sri@GHma iii. gGarmoepeneruded
ghHUBLD FLpHE
d. Glomerular iv. Presence of glucose in BLBD>
nephritis urine d. @Carmwenermi iv. ApBfle @EpsCamen
a b o d QmoLifli g 60 2 GTerng|
1 i ii iii iv a b c d
(2) ii iii i iv 1 i ii iii iv
(3) iii ii iv i (2) i iii i iv
4) iv i ii iii (3) iii ii iv i
174. Match the items given in Column I with those in 4) v i ii iii
Column II and select the correct option given
below : 174. Epsarecupmer sflwmer e amws CsibOsH s
Column I Column II Usreg Iwppnd Gsred -8 urGss awsis :
(Function) (Part of Excretory Clsregl 1 Csm@dl 11
System) (Qauiser) (5ay
. . ) B&5Qsm@dludler
a.  Ultrafiltration i. Henle’s loop LG4
b.  Concentration ii. Ureter a. [IGHT aulgsl g i.  Qemeed cuameray
£ uri
ot urne b. AmBfler < iey i G
c.  Transport of iii. Urinary bladder
urine c. &b s gsriupse iil. dmyr eu
d.  Storage of urine iv. Malpighian d. Emipi Cesfliiy V. omede L 9elwiehr
corpuscle iy Clge
v. Proximal Ve (paeenid .
convoluted tubule DTGP
a b c d a b c d
(1) iv i ii iii (1) iv i ii iii
2 v iv i ii 2 v iv i ii
(3) iv v ii iii 3) iv v ii iii
4) v iv i iii 4) v iv i iii
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175.

176.

171.

178.

179.

180.

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1
(2)
3

Presence of caudal styles

Forewings with darker tegmina

Presence of a boat shaped sternum on the
9" abdominal segment

Presence of anal cerci

(4)

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(D
(2)
3
(4)

Reptilia
Aves
Amphibia
Osteichthyes

Which one
homeotherm ?

(1) Chelone

(2) Camelus
(3)
(4)

of these animals is not a

Macropus

Psittacula

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
3
4)

Diatoms
Cyanobacteria
Dinoflagellates
Euglenoids

Which of the following animals does not undergo
metamorphosis ?

(D
(2)
(3)
(4)

Tunicate
Moth
Earthworm
Starfish

Ciliates differ from all other protozoans in

(D

having a contractile vacuole for removing
excess water

(2)
3
4)

using pseudopodia for capturing prey
using flagella for locomotion

having two types of nuclei

175.

176.

177.

178.

179.

180.

Qe srlumaTyESlger bHmId  Cuer  srliume
L FSlGamer eTLILIGRTLSET (Lpevld Sarl_Hluieomd ?

(1)

cumed fldled 2 erergmed

(2) et @pa@seaiar  CLsllerm  smHeLWTS
2 _GTerT&med
3) Y-ag alipn saTLsHd UG algel

GGt 2 eTemgmed

4)

wolHMWPs CSTDLSET 2 @TaTsmed

Qeflorer LETL_&SH Safllienu HMID
Sireeilieuaml 2 @l (pglasablisdr erg ?

(1)
(2)
3

(4)

DI [TGL 60T

GJ GG

@ meumpellser
9pevle S&6

Qemeu(meuameupmer Qeuti  @rss  ymentlwmnm
cllevrai ergl ?

(1)
(2)
3)

4)

£EQevmeir
GCaGleven
wr&GrmLen

S L s

QuprsLdsafld IQEET o HuSHwmeryrs
sHsUILEL 2 wiflser erg) ?

(D
(2)
3

(4)

LWL L ID&ET
swCarrumsle NL&s6r
aL_GarmoellermlaCal (HaeT

wsatermi (Hser

etreu(meuameudmIeT  GuETT
Blaws elleni@ erg ?

1) queCsl (Hser

(2)  @pgi Uss

(3)  warryp

(4) pLesdly Ber

2 BTHDD  ElEsprs

S
er&sTrassTed Geumiu(hsemer ?

(1)

YCrm CLnCGareunssefledmhg  FOCGWL (Haer

Blens Bevy CeuelCubm smmiE maETELD
CELIIGEICT
@errenw

Lwetu (&g
@LQuuiteyssts Seflevpsamer LweaTLIHSSID

(2) Qg LiLgn s, Curelsrersaar

6))

(4) @rer® euemswrer 2 L smaned CLHD(HEED
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Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

SLPSETL M6 TEHEN6IT H6LEWTLDNG LIL|SHeLD &

1.

Csire| erpglueuiser samameantiiLmert Gal @b
Curg ghigerg A@LS D dLows sTamiss
Gouar(HLd.

CsiTe 6r(pgiLIaUT eTeu(hLD SeaTamentLiLimerler
Amuiy seiwdHudendl, sjeureurr
@b sH(mhg Qede

SIS EHILIL DT L TTSGET.

Caitey erpglucuiiseT  Shserg  Semuigierer
sansrafliumarfld @ @mupern eumHensl Ldleys
QasQumiubd  @L  Geuam(®b WwHmb  Shs6Tg
e ggrener sjemp Csieys sewrsmentliumerflb

Qarhss WerarGiy Qeuafluded Qgevev

S@ISESILI(HGUT. BressTL_eug a0
esCwmiLdLg Caiteuiiger, SBIS6NG
eNlemL_ggnenern S|mm s esaranessi LiLimen b

Sefl&anned Clasinans smaLiL@ e LHDID )
Seurgl QummiunHm QFwieons smHBLILHID.

Wenergy/sraryent  seaufllbdasdr  LweTLHS568)
s QFiwtiul (HeETerg.

Csray  epullanyer,  Csiey  eT(pgILIGITSHET

GG (LD Caireileir UL S L Bs @&
2 " LI L eUIMT&eT @I Qurmtiupo GTEOEVIT
QawesEms @D Caraller FULSI L mseTUIg

BLalg &S 6T(H&HSILI(HLD.

s Ghailmoulan Gsrell L ssd oMb
Men_ggrener INSASHESD Fnl Mg

Caitey erpglualiser smserg Csie] LSHs
e gsmer @HL e au@mens’ udegsgrafd

sULmub er(psGaueT(Hib.
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